NAIR Assistant Materials Manager AMM

Topic:- AMM_PA_NAIR25FEB

1) Electrodes, cutting & welding accessories are accommaodated under
which PL group
SOIFEIS HicaT 3 ATesaT IUFUT febet SIUer TefE & Sfefdid T a0 &
[Question ID = 333][Question Description = Q01_AMM_PA_NAIR25FEB]
1. 78
[Option ID = 1329]
2. 78
[Option ID = 1330]
3.7
[Option ID = 1331]
4. 89
[Option ID = 1332]
Correct Answer :-
® 76

[Option ID = 1329]

2) |n ABC analysis for inventory control, ‘C’ category fiems represent
SeacT AT & Torw wet fagermor & dr goft e vRafFfaca e &

[Question ID = 334][Question Description = Q02_AMM_PA_NAIR25FEB]
1. High consumption value items /| 33 IS §7a aT4[ 75317

[Option ID = 1333]
2. High rate items / 35 == 7T @717

[Option ID = 1334]
3. Low consumption value items | F ST H70 FTHT T

[Option ID = 1335]
4. Ipactive items / T sreee

[Option ID = 1336]
Correct Answer :-
®  Low consumption value ttems | F7 STHTT 79 a1 a5

[Option ID = 1335]

3) Description and specification of material helps in  providing
unambigueus communication between

T & faaver 3R TafaTthe e i & g & TUse I uoiE e
HHACE A&
[Question ID = 335][Question Description = Q03_AMM_PA_NAIR25FEB]
1. Indenter & Purchaser | ®TT#aT 5% #AT

[Option ID = 1337]
2. Purchaser & Supplier { 737 7% swqE=T

[Option ID = 1338]
3. Supplier & Inspector/ sTIHFAT v o Ew

[Option ID = 1339]



4. All given options are'correct / TgT aiv 9aift fasea 981 £

[Option ID = 1340]

Correct Answer :-

o All given options are'correct / feu 2w Ta8f fAeeg 98T £

[Option ID = 1340]

4) Dead surplus are items
A yfadm arae €

[Question ID = 336][Question Description = Q04_AMM_PA_NAIR25FEB]

Which have not been issued for last 1 year and are not likely to be
utilized by any railway in rext 1 year? =i Treer 1 o § TIET F6T

| TR AT E I e 1 a0 # T off Yod gan 39T e ST T
HHTAT 61 67

[Option ID = 1341]

Which have not been issued for last 1 year and are not likely to be

utilized by any railway in next 2 years? =7 o 1 89 I 99T F61

ferw arw & 33 rerer 2 aut 7 sl ofr Yener gare sueher e S Y

HHIAAT F61 57

[Option ID = 1342]

Which have riot been issued for last 2 years and are not ikely to be
3. utiized by any railway in next 1 year? =it fiwme 2 |19 & ¥4 g1
Eru it e B e F R -t e DI E R T R
AT TH 27

[Option ID = 1343]

Which have not been issued for last 2 years and are not likely to be
utiized by any raifway in next 2 year? i1 T2t 2 9197 F 9977 A7)
E T L - e B B T e e e I R T T
HATAAT ALl 27

[Option ID = 1344]

Correct Answer :-

Which have not been issued for last 2 years and are not likely to be
utiized by any railway in next 2 year? ST T4 2 ST F T3 721
B T 2 AT a0 2 AT #OChAET S Tee 5Ter I9AnT e we A
HHTEAT A8 27

[Option ID = 1344]

5)  Check digit for the PL no. with first 7 digits as 3898158 is
OTOe Siay ToTdeh el 7 376 3898158 §, 3eh! o fSoilc &1 & 7

[Question ID = 337][Question Description = Q05_AMM_PA_NAIR25FEB]
1. g

[Option ID = 1345]
2. [

[Option ID = 1346]
3. 9

[Option ID = 1347]
4, 0

[Option ID = 1348]
Correct Answer :-
0

[Option ID = 1348]



6) Custody stores are
HECS FE T B2
[Question ID = 338][Question Description = Q06_AMM_PA_NAIR25FEB]
_ All the materials in the custody of Stores Deptt / T GIHTIET ST
HSI Tasme o ATEHET A1
[Option ID = 1349]

Materials in the custody of stores Deptt, the cost of which has
2. already been charged to Works / S/l i1 @SR Taemr &7

HTRET # &, FoITeh! AT 3ay 91 Ul a1 I & ST Idi b

1

[Option ID = 1350]

;. Stores in the custody of User Deptt/ SOl [asTET 6T Heesr
# HEW|
[Option ID = 1351]
Stores which have been confiscated by Vigilance / o Tmaalr
Y Tafarere < Sed faall &

[Option ID = 1352]

Correct Answer :-

Materials in the custody of stores Deptt, the cost of which has
e already been charged to Works / Tl ST HsH ToeImr &7

HTEET 7 &, el oeTd ae] A UGl 6l I ol AT hl b

[Option ID = 1350]

7) As per policy of public procurement {Preference to make in India
order) upto which estimated value; purchases are exempt from
this order

et @G & Afd & FAER (9Rd A AT 39S &
wrffman) feet gATiad Hed am & @lie &1 59 3R § o
dras e
[Question ID = 339][Question Description = Q07_AMM_PA_NAIR25FEB]
1. Less than 2 Lakhs /2 i@ § &+

[Option ID = 1353]
2. lessthan 5 Lakhs/ 5 @@ ¥ &H

[Option ID = 1354]
3. Lessthan 10 Lakhs/ 10em@ 9 &H

[Option ID = 1355]
4. Lessthan 25 Lakhs/25emM@ & &

[Option ID = 1356]

Correct Answer :-
® |essthan 5 Lakhs!/ b o § &

[Option ID = 1354]

8) The reserve price of scrap materials is fixed on the basis of

T AIHA T ARG Hed Tehster AR TR A for STiar 67

[Question ID = 340][Question Description = Q08_AMM_PA_NAIR25FEB]
'- Bids obtained in the past / 94 # 9red @lferi

[Option ID = 1357]



2. Market trend / ST &7 qqfe

[Option ID = 1358]
3. Neighbouring Depot rates / GardT 59T 21

[Option ID = 1359]

4. All the giver options are correct ! fev v Tl faeweg Wl &

[Option ID = 1360]

Correct Answer :-

o All the given options are correct / v e w3fi Taeea T &

[Option ID = 1360]

9) Turnover ratio is
THHTEY HATd B
[Question ID = 341][Question Description = Q09_AMM_PA_NAIR25FEB]

(Total value of receipts in the financial year divided by total
values of issues in the financial year) multiplied by 100. / (fa<i

- T ¥ Wit & Fw Aed, O 98 & S E o e
faerirer) 100 & rom famar 3|
[Option ID = 1361]

(Total value of issues in the financial year divided by total value
of receipts in financial year) multiplied by 100/ (fadrr ad &

| o e Ao, T o # Wit & 5o Heg 3 et
100 § 717 Tovar 91|

[Option ID = 1362]
(Closing balance of financial year divided by iotal value of
issues in the financial year) muliiplied by 100/ (faeia @F &

> o @ o @b # Bl & g A R
a7T) 100 & 3qO7 foa ar=m|
[Option ID = 1363]

(Closing balance of financial year divided by total value of
receipts in the financial year) multiplied by 100./ (foeir a4 &
THTI A &1 ey g & witoa & s Hea 3§ Renfe

1) 100 ¥ 01 T 3r |
[Option ID = 1364]

Correct Answer :-
(Closing balance of financial year divided by iotal value of
issues in the financial year) mulfiplied by 100/ (Tadr a¥ &

* e o @ et et & wor s @ RS fob
74T 100 F 7qo7 o 77|

[Option ID = 1363]

10) Covered dues are
Fas 539 =T &

[Question ID = 342][Question Description = Q10_AMM_PA_NAIR25FEB]

Materials received in properly covered condition by suitable
1. packing material / S9er BfeheT TN GaRT 3190 9 & &1 65

el & ureg g

[Option ID = 1365]



Quantity for which purchase order for the material has been
7 placed but material has not been received and accounted for /

S e e & 37Te e & T 97 & difey el wieel =76l 65
& 3R 37! v T <67 e aran &
[Option ID = 1366]

3. Material for which funds have been arranged / EGRSIGE &d
e Y caaeT AT R
[Option ID = 1367]

4 Quantity for which purchase order is yet to be placed | 9§ #BIT
TR o0 &9 H7¢ 3T 38T o ol [GAT T &
[Option ID = 1368]

Correct Answer :-

Quantity for which purchase order for the matenal has been
o placed but material has not been received and accounted for /

S e foe e g e & fean o & difersy el wiee =61 65
B 3 e fovmma-fovca =il e &

[Option ID = 1366]

11) Wheels and axles are purchased by

[Question ID = 343][Question Description = Q11_AMM_PA_NAIR25FEB]
1. Rail Wheel Factory, Banglore / Tef Taiel thag 1, darele

[Option ID = 1369]
2. Railway board / o =18

[Option ID = 1370]

PCMMs of zonal railways & PUs for their consumption as stock

3. jtems / TCIH SEH & T F IYHET & [0 AT Tod AR 9T &
drETATH

[Option ID = 1371]

PCMMs of zonal railways & PUs for their consumption as non-
4. stock itemns | -FETH I & ®Y 7 IUHT F forw el ord iR
e

[Option ID = 1372]

Correct Answer :-
® Railway board / o @15
[Option ID = 1370]

12) Unsolicited offer is
FAGTR! AL &
[Question ID = 344][Question Description = Q12_AMM_PA_NAIR25FEB]
Offer against limited tender from a firm who is not registered / 05T

v g WA fafaer & ey yeaE S oshed A8 &
[Option ID = 1373]

Offer against limited tender from a firm to whom tender enguiry

2. \as not sent / 3T BH I SIfEd Hiaer & Geey oramE, o &fEe
w6 =i a1S oY

[Option ID = 1374]
, Offer not having all relevant documents / o Sfagr & i
I 131k EEiTeet 560 &

[Option ID = 1375]



4. Offer not containing Earmest Money deposit! SEdTa & aar=r Uiel
FATAG &

[Option ID = 1376]
Correct Answer :-

Offer against limited tender from a firm to whom tender enguiry

® \was not sent/ 3T BH O WA Hider+ sy geam, 5% HfEer
R eI

[Option ID = 1374]

13) What is economic arder quantity

[Question ID = 345][Question Description = Q13_AMM_PA_NAIR25FEB]

The quantity which minimizes the sum total of ordenng cost and
1. |nventory carrying cost / @5 ATIT ST HTST oAt AT Seaedr o7

I o el Il & il &

[Option ID = 1377]

The guantity which maximizes the sum total of ordering cost and
2. inventory carrying cost / 5 HTAT AT H1ST o97T 3T Seacr &bl efarey

& o T Y AR HAT &
[Option ID = 1378]

The size of order for which the lowest prices are obtained by
3. purchaser | HTST T HHN ToT0F ToC thaT & el &6 H1ET U

BT e
[Option ID = 1379]

4. The size of order for which best prices are obtained by seller /
SHTST T A Fotereh orv fashell qan Hafas Hpa 9red fov S &
[Option ID = 1380]

Correct Answer :-

The guantity which minimizes the sum total of ordenng cost and
® |nventory carrying cost / @ HIAT ST M5 ol AT Seeledl ol

ST o e AT ) e @t &

[Option ID = 1377]

14) Whatis Lefter of Credi?
o rE g L A e o Y
[Question ID = 346][Question Description = Q14_AMM_PA_NAIR25FEB]

Credit given by banks to supplier against Rly Purchase Orders
1. forpurchase of raw material / Tl ATl ehl WG o 1010 Told TG

e & Favay ITyfcierat &y et ganT fear oy oy

[Option ID = 1381]
,. Credit note issued to supplier for supplied material / 31afd &1 715
HIFT & Fow ATqfEwd &) T fhar 3 Hi5e die
[Option ID = 1382]

Credit transferred to workshop for scrap items deposited by
3. workshop to Stores Depot / @e3ITT SaRT TE 50T 517 ffo are

T ATSTH & foIT Gy &1 GEard e o I HiET]

[Option ID = 1383]



A letter issued by a bank to another bank especially one in
different country to serve as guarantee for payment / Ei?EFEFIEﬁF

ARET & TG 7 HH T & (00 Ve e ZaRT g3t de, g &9 8
AT G & de I ST 3T 97 Uk I

[Option ID = 1384]

Correct Answer :-

A letter issued by a bank to another bank especially one in
different country to serve as guarantee for payment / Ei?EFE?—IEﬁT

ANET & H HIH FXeT o [0 veh e gary ga de, [T s 9
ITETT &7 o ek ohY AT o 71T Uk OF

[Option ID = 1384]

15) |n Store Depot, one itern is received in Kgs. What is the code of
unit of accountal in Kgs?

TR BT & Uer @, fehaitae 3 910 8Ial 81 315 6l 5ol
T 5 el e 3 =0T 67

[Question ID = 347][Question Description = Q15_AMM_PA_NAIR25FEB]
1.
12
[Option ID = 1385]
2. 92
[Option ID = 1386]
3. 32
[Option ID = 1387]
4. 42

[Option ID = 1388]

Correct Answer :- Deleted

16) As per denial clause of purchase of material, consider following
statements.

sl BT @ diG & TS Fella & SR eaiaidd s ae= 9

[GCERE: Ty

1) Any increase in statufory duties and or upward rise in prices
due to the price variation clause are bome by seller for
quantities supplied during extended delivery period / daTiae

FH @IS 6T GE AT Hed e @S (PVC) & &ROT
RT3 FETHRI &1 Tt fSeiadr safer & e 3mafe &
1S AT & o TashaT ganT a5+ fovan ST 61

I} Any adverse fluctuation in foreign exchange rate is to be
borme by seller for quantities supplied during extended

delivery period / faaTiYe fSefiat sraferss g smafet & ars
.ﬂmﬁﬁvﬁaﬂﬁﬁﬁma#ﬁ-ﬁrsﬁqﬁaﬁrm-mm
5o [T &l L=l B

Il Purchaser reserves the nght to recover for any downward
revision jn statutory duties and/ or downward revision in
prices due to price varation clause for supplied material

during extended delivery period / Taeariia Beiadr g &
it 3mfe & o denfas &1/ ae fesar @3 ( PVO)
& FROT FAA A e F e @R #F gEsied F &
HEFR TETT B

Which of the following options is correct?

Tafafag & T ol9 a1 faeeq w6 87

[Question ID = 348][Question Description = Q16_AMM_PA_NAIR25FEB]



N

Only | & Il are correct / &l | Tl T8I &

[Option ID = 1389]
2. Only | & Il are correct / 3w | 3711l FETE

[Option ID = 1390]

3. Only Il & Il are correct / &ael || 31l TETE

[Option ID = 1391]

4 Al 111 & Il are correct [ T&T 1 11 311 @Er e
[Option ID = 1392]

Correct Answer :-

© All 111 &Il are correct I AT 11 3 11 TET &

[Option ID = 1392]

17) As per canons of financial propriety please read following statements
carefully- Public money should not be utiized for the benefit of a
pariicular persons or section of the community unless

Tarcirer aftferca & el & He[sR Suar Heafe i@ &o= &l <=
¥ OE- WIS Teich £1oT S ST (el Tervy cafere A7 TG a2 o aire
& forw =g! Tohar i 1Tt oid da

I) The amount of expenditure involved is insignificant / S9&
QT ST ehl WTaT A0 &

I} A claim for the amount could be enforced in a court of law/
fer & Tore grar gred 7 g o S wear

[Il) The expenditure is in pursuance of a recognized policy or
custorn | &% Tl ATwaTaTST i o A o FTRor A &

Which of the following options is correct?
fEafafEg & & sla o faweg werg 2
[Question ID = 349][Question Description = Q17_AMM_PA_NAIR25FEB]
- Only Il is correct | el || G816

[Option ID = 1393]

2. Only Il is correct / thael Il F6T E

[Option ID = 1394]
3+ Only Il & Il are correct / & I 3 I1FHET &

[Option ID = 1395]

4. Al &1l are correct / TT | I FT I TECE
[Option ID = 1396]

Correct Answer :-

o Al &Il are correct /TelT | 11 F I TETE

[Option ID = 1396]

18) Calculate total value of offer for basic price @ Rs 250 + Packing
charge 10% + freight Rs 20/- each + GST @ 10% for quantity 10

numbers-
SECITe o ool Hed ohl AT | &F 590 @ 250 + Afhar e 10% +

YT 20/- Geirdh + ST0He] @ 10% , AT 10 747

[Question ID = 350][Question Description = Q18_AMM_PA_NAIR25FEB]
1. Rs23245=00/3245=00 %

[Option ID = 1397]
2. Rs 3225=00 /% 3225=00

[Option ID = 1398]



3. Rs3200=00/3200=007%

[Option ID = 1399]
4 None of the given options is correct / g7 31T fashedl 3 & F15

el A6l §

[Option ID = 1400]

Correct Answer :-
® Rs3245=00/3245=00%
[Option ID = 1397]

19) Under Vivad se Vishwas (Relief for MSMEs) scheme of govt of

India, forfeted performance securtty / deducted Liguidated
Damages / forfeited bid security is to be refunded after determining
eligibility. The refunded amount is-

TN &l [daTeg o TdeaTd (THTHUHS o [oll Uad) el & dad, sied
s TRiHAT G/ Feldr A S (LD) / Sod & 35 el TLET
(EMD), e iR ot arg oo fr st ) Res St ofor g

[Question ID = 351][Question Description = Q19_AMM_PA_NAIR25FEB]
1. B5% of forfeited amount / 63% e TTAT

[Option ID = 1401]
* T5% of forfeited amount / 75% STea 1T
[Option ID = 1402]
3. 85% of forfeited amount / 85% =T&ct TITaT
[Option ID = 1403]
4. 95% of forfeited amount / 95% Tea T
[Option ID = 1404]

Correct Answer :-
® 95% of forfeited amount / 95% Tect T

[Option ID = 1404]

20) Forimported consignment Agency commission is to be paid in
HATTered @Y & TeTT TSI Sha 121l 2l STl fehal St &
[Question ID = 352][Question Description = Q20_AMM_PA_NAIR25FEB]
Foreign currency at TT Buying rate / €1¢T @lig g€ 9¢ fagel #gr
[Option ID = 1405]

2. Non-convertible Indian Rupees at TT Buying rate / T Eig et
AT I 5

[Option ID = 1406]

3. Foreign currency at TT Selling rate | 2127 TadhT ¢ O¥ Tacelr Hal

[Option ID = 1407]
Mon-convertible Indian Rupees at TT Selling rate / 21T Tad#r £3

o A O ae SR 9
[Option ID = 1408]

4.

Correct Answer :-
Non-canvertible Indian Rupees at TT Buying rate / 2T TG 7
9 IR REa T SR T

[Option ID = 1406]



21) which of the following staterment is incorrect for quantity option
clause in contract
3=F ( Confract) # &= fd@@ed @S ( Option Clause) & T

g S T Ha arsyT g &

[Question ID = 353][Question Description = Q21_AMM_PA_NAIR25FEB]

While deciding the acceptability of tender/contracts the value of
guantity under * +30%" option clause will be included inthe value
of tenders for determining the level of competency of acceptance

1) Tfegysremel & T dar aa e e Tt S dea &
T @1 [T e & T "+30 %" e @ ( Option Clause)
& Ted AT &7 Aed [ATAaIAT & Fpa 7 AFEe T S|
[Option ID = 1409]

Option clause may be operated by the competent authority within
his powers of tender acceptance for original quantity + quarntity

2. under option | T&TH STfEENRT HEIR Ta&e ( Option), el AT
+(Option Quantity) #13T & ToU [ATdeT Tl o 1 39«1 afdadl &
At garad [P ST gEaT &

[Option ID = 1410]
Operation of +30% option clause in TC cases is o be done
without Finance concurrence and only medification advice to be
3. vetted by Finance | €rEr AHMT § +30% Td&ed @s (Option

Clause) o1 T=Ter=t T =l FEaTd o Td=1 ToBal ST A el
Hairers el fow gan ! e

[Option ID = 1411]

For non TC cases, Finance concurrence would be required for

those purchase orders, where with option clause quantity, the
value of contract is within vetting of purchase order / i £

" HTET o oI 39 e He et F o au aata T smasaean et
6l fddhed Ws #AAT(Option Quantity) & HT2, WG 3T T Hor
+Fd & o faasr ggafa arfET)

[Option ID = 1412]

Correct Answer :-

While deciding the acceptability of tendericontracts the value of
guantity under * +30%" option clause will be included inthe value
of tenders for determining the level of competency of acceptance

* | Sfacysraeel Fr wle a0 o9 ST A TSI S A &
T @I Tl @et & [ore "+30 %" %o @s ( Option Clause)
& TRl AT T Hod TATAGIAT & Hpa 7 Aiae Tohar S|

[Option ID = 1409]



22)  As per Model SOP issued by Rly Bd, please read following
statements carefully for powers for invitation of single tender, for
non-propriety articles, without finance concurrence where there is
single approved source on list issued by RDSO/FPUs

I} PCMM- Full powers up to their power of acceptance
11y CMM- Full powers up to therr power of acceptance
D2y CMM- Full powers up to their power of acceptance

Which of the following options is correct?

Yad d1S1 SaT TR Hisel TR & 3R, Uahel [ATder H# T el
&t arfaeral & fore, fam weata & faem dwanf@ea arel a3 ( Non
PAC) & ToIT, ST IRSTCH /I ST =TT ST 31 Ushel 3i#ifed Wi
&, FOT fAEATaTE T =l & e § 9|
1) ORI o) Tl @ e o o AeR
II} SCAUH- Saeh! Tl T AT e oF HiOEwR
11130 S TCHTH- Sefehl Tleh (el i e der o] HTUHR
TraATo g % & &l |1 fdewey 96l 67
[Question ID = 354][Question Description = Q22_ AMM_PA_NAIR25FEB]
. Only | iscorrect / hdel | TGl 6
[Option ID = 1413]
2. Only | &Il are correct / @raer | HX I TETE
[Option ID = 1414]
3 AN 11 &I are correct / w8 1, 11 AN @Er &

[Option ID = 1415]
None of the given options is correct / T&U 91T Tasedl 7 T HI5

sTHETAE B

[Option ID = 1416]

Correct Answer :-

¢ AL 11 &I are correct /g3y 1 1 3TN SEr E
[Option ID = 1415]

23) As per stores shield criteria target for “Average settlement time of
tender cases is

TR dlies Ares & HaaR T fdar #Eer & Had e 63 &
weaE

[Question ID = 355][Question Description = Q23_AMM_PA__NAIR25FEB]
| TC cases — 60 days, DA cases- 30 days / ZiT AT 60 &=,

ST HHA- 30 fe=

[Option ID = 1417]

TC cases — 45 days, DA cases- 30 days / T A - 45 fB=

20 FHH - 30 e

[Option ID = 1418]

TC cases — 45 days, DA cases- 15 days / €151 ##0- 45 &1,

2 Fe- 15 e

[Option ID = 1419]
TC cases — 30 days, DA cases- 15 days / 21T #e- 30 &4,

ST HEES: 15T

[Option ID = 1420]

2.

4.

Correct Answer :-



TC cases — 45 days, DA cases- 15 days / €191 #1#¢- 45 &4,
B APl 15 Ea

[Option ID = 1419]

24) RpsO approved status of L1 bidder in direct acceptance tender in
which material s to be precured through RODSO approved source

only i1s approved up fo 31.01.2024 Valdity of offer is 60 days A
tender of this item is opened on 05.01.2024. Tender decision is being

done on 25.02 2024. What action’ should be taken by accepting
authority?

U Eest Torge el dder HEICH3T HeAlea Hid & AregH ¥
WiEY == & A Uerl Aol ARSI # 31.01.2024 %
FAeT & 59 #g & Wiae TaE 05.01.2024 F7 @iel )= 8
fafagr & duar 60 oa & Mt & Sk G 25.02.2024 &7
T ST TET &, Tl Toer WITEIaTT SENT T ShIRaTar hT ST

[Que;tion ID = 356][Question Description = Q24_AMM_PA_NAIR25FEB]
P.O is to be placed on L1 bidder if rates are reasonable / IT¢, &1
s ar ey s & L1 aefierar o fear smoam

[Option ID = 1421]
Tender is to be retendered as offer of L1 is not ROSO approved
2. on 250224 / fATdET &1 Yet: Ewst bl (e S1fgd dbifch Tert

T GEATE 25 02 24 FF HRSTCHT gan FAfed e &1

[Option ID = 1422]

Megotiation' of rates is to be called from next higher RDSO
approved firm for reduction in rates for net procurable quantity /

3. gy Wi T A & 60 I & wHT 6 o0 ARSI ganT
HAATGd HATell 3o B 9 &40 W alddid (Negotiation) TS
ENE

[Option ID = 1423]
Next higher RDSO approved firm is to be called for negotiation
for procurement of urgent requirement & balance quantity is fo

4. be retendered | TcIel HTa2TE AT #f @G & T @igdid
(Negotiation) % TorT 3Tell Ieao JRSITHAT 3P fea wel &1
T SATAT =176 T & HHT HY I FATIET g

[Option ID = 1424]

1.

Correct Answer :-
. P.O is to be placed on L1 bidder if rates are reasonable / Tfe &¥

ST ET T &2 IS & L1 areierar ox fear e

[Option ID = 1421]



25) Read the following statements

[} In Rate contract currency of contract is fixed, quartity (with
+ & - tolerance) 15 fixed and rate is fixed.

I} In Running contract currency of contract is fixed, quantity is
fixed ( with + & - tolerance) and rate is fixed

Iy InRate contract currency of contract is fixed, quantity is not
fixed, rate is fixed

V) Inrunning contract currency of contract is not fixed, quantity
i5 fixed { with + & - tolerance), rate is fixed

Which of the following options is correct?
fAeafeiaga saa 9
) X 3= (Rate Contract) ¥ 3= & g d@r fafvaa
BICT &, FET (+ 3 - Tg=reiieraT & §19) 9 811 § 3 et g
B &l
Iy TFEET Fiecae & Flecae I TAT TAT T BIAT B, AT (+
HIT - FEerlierdr & W) JO a6 AT ag e s
W) T regaer # Jregaer & wHa e SEEa e § A
feAfeae =al gieh, &x [ATead g e
V) T Fiedae & ey £ gag g9 Rftas af e g,
HEAT (+ 31 - Sgaetioan & o) FARad gl g evaagdr
feraTo T # & &= a1 fasey g &7
[Question ID = 357][Question Description = Q25_AMM_PA_NAIR25FEB]
- Only | & Il are correct / &gt | 3101 98T g
[Option ID = 1425]
2. Only Il &Il are correct / der || AR NN TETE

[Option ID = 1426]

3. Only Il & IV are carrect / &raer Il IV T6TE
[Option ID = 1427]

4. Only | & IV are carrect / thael | ATV Tol &

[Option ID = 1428]

Correct Answer :-

® Only Il & Ill are correct / &Fder | HR I TETE

[Option ID = 1426]

26) Forthe purpose of preparation of Indent / Estimate for procurement
of Stock items “Interim Period” means
TEid a1 TliE & T 55¢ / AT AR e & I8
"Hefw At s AT §

[Question ID = 358][Question Description = Q26_AMM_PA_NAIR25FEB]

The period for which requirement of item is being estimated /
1. g 3rater ToTeeh TorT o hl HTeTeRcll T JTeTHTeT cTalran oIl 6T

&l
[Option ID = 1429]

, None of the given options is correct,/ f&T 71T fadedT 7 & F15
Tl =761 6.

[Option ID = 1430]



The period between the date of preparation of the indent /
Estimate sheet and the receipt of materials for that indent /

Estimate sheet/ S5zve AT e dUR &9 & Jii@ 3R 39
SEC/TECTEC T o [T G131 &hl WITed o alld &l Hare

[Option ID = 1431]

The perod behween the date of preparation of the indent /
Estimate sheet and placement of purchase order for that

indent / SEEI3T=TATE ofTE dOR FTeT HT i@ AT 3T B &
o @lie 3nger &=1 & die &t 3ate

[Option ID = 1432]

Correct Answer :-
. None of the given options is correct / TET 1T Tadedl 7 T HI5
TRl 61 6.

[Option ID = 1430]

27) Para 3200 of IRS condition of contract 2022 deals with
FHeae 2022 T FSHNCH 903 &7 47 3200 Hafa g

[Question ID = 359][Question Description = Q27_AMM_PA_NAIR25FEB]
1. Security deposit / TRET ST AT

[Option ID = 1433]

2.  Warranty Guarantee / @IET Ml
[Option ID = 1434]

3. Arbitration | FEOEAAT ST
[Option ID = 1435]

4. System of Payment / ${3TciT=l 9UTTeil
[Option ID = 1436]

Correct Answer :-

*  ‘Warranty Guarantee / €T IMHeT

[Option ID = 1434]

28) |n a tender committee purchase case at HQ, complaint of corruption
in that tender is received by convener member of Stores Deptt
before finalization of tender case. WWhat action is to be taken by
convener member?

HEAT A Uek (Afder wiaf @i @ #7, fafagr e =1 sifas &1

&1 TRl SIS TS9N o TSl Ward A 34T Hider # H#seER
&7 T ITo 21T £ e Tee ) a1 SiiaTs Hiel a7

[Question ID = 360][Question Description = Q28_AMM_PA_NAIR25FEB]
The tender case is to be sent ta PCMM before drafting T.C.

minutes for information and further orders / T=T 31T 31wl

TR o Terw 1T THeTe & J5ieT o =1 T Uae faidarsn

ST TCHTH &l 7 ST 9 |

[Option ID = 1437]

The case i3 to be sent to Vigilance Department for

investigation before drafting T.C. minutes and case is to be
finalized after advice of Vigilance Department is received /

2. #T et o AT a9 S 3 e A &) ofld & oy
Gl T HTaT T 1] T TR 31T Fevaay s T Tes
UTC BieT & oG HIH & ATa# &9 f&r = aried |



[Option ID = 1438]
The case is to be sent to Accepting Authority of tender for
direction on further course of action is to be taken./ FTHT &1

> e 5 B e e vt il
ATfereT & 87T ST Aifed |

[Option ID = 1439]
TC minutes are to be finalized with comments on painis
raised in complaints and then case Is forwarded fo

4. accepting authority./ TaIeRIEICT 7 381V AT Tag 31T 9¢ oot
& Ty AT fAeeT & e v fear smer anfed i e
HTIFH T TATHE T G167 TR &l ST ST =gy

[Option ID = 1440]

Correct Answer :-

TC minutes are to be finalized with comments on paoinis
raised in complaints and then case is forwarded fo

o accepting authority./ TaERTIET 77 3810 10 fag3T 9¥ oot
& T e fAeet @ Ao v foar Smar anfed 3 e
HTFOT 5] TATEHIT et Aol QITEIRTLT &hl 8117 ST ST

[Option ID = 1440]

29) Inatender case read following statements

I} Megotiation should be held only with the lowest technically
suitable bidder

Ily Negotiation should be an exception rather than rule.

IlI) Megotiation should be called in all cases where rates are higher
than last purchase rates.

Which of the following option is correct?

U fATaer A & Arafeiad sua 7e

(1) @A (Negotiation) hae Tad &H 6 dUT dahelhl 89
UG dlel! oTatfeT atel & T &1 Rl Sl FieT|

(Il) @i (Megotiation) T=E9 & S UG 8= Jiay|

(Ill) 3=F @il A 7 =it (Negotiation) TeTS STl ATRT 61 &1
Taeell @iie &3l ¥ 3179 8|

St & § &l o ey Tera?

[Question ID = 361][Question Description = Q29_AMM_PA_NAIR25FEB]
1. Only | & Il are correct / shaer | AT T6r 8

[Option ID = 1441]
2. Only Il & Il are correct / &aer || I TET &

[Option ID = 1442]
3. Only | & Il are carrect / &aeT | AN TETE

[Option ID = 1443]
4. AlLIN &Il are correct / 8T |, 1| I 6T E

[Option ID = 1444]

Correct Answer :-

® Only | &Il are correct / hael | AT T8I 8

[Option ID = 1441]



30) as per Stores Code Freguency of stock verification of ‘B Category’
itemns in Stores Depot s

TER FI5 & IER TR 501 & & Al aeasi & Teie oand= 61
i &

[Question ID = 362][Question Description = Q30_AMM_PA_NAIR25FEB]
1. QOneein 3 months / 3 Fal J U a

[Option ID = 1445]

2. Oncein 6 months / 6 FEE 3 T A0
[Option ID = 1446]

3. Once in 8 months / 9 52 # TH AT
[Option ID = 1447]

4. Oncein 12 months / 12 AL 7 U a1

[Option ID = 1448]

Correct Answer :-

® Oncein 12 months / 12 AGA & Us a1

[Option ID = 1448]

31) As per model SOP, read following statements carefully for power to
invite single tender at HQ for PAC items where it has been possible
to cerify that a similar article which could be used in lieu is not
manufaciured / sold by any other firm

Iy PCMM up to his power of acceptance
Iy  CMM up to his power of acceptance

i)y By CMM up to his power of acceptance
V) SMM up to his power of acceptance

Which of the following options is correct?

Hisel TH3MUT & HAR, W0 a3 & a0 seared 7 e gl
HTHATAT el i elTard & Tol0 [eiFaiol @ d &elal & S0 o 96, SI61
IE GHIUIA el T8 & fof TheeE (Similar) 3% ST @cel 7
SECTATE &l 1 Heheil 6, [oh ] 3o d B GanT A / &=l 67 S &
) e FEE 6 gfed 0 S E A

Iy suer ediaia £ afea ae drva e

) 5= Hioaes 3796l Tdiaid & afed dw

V) ST TdibTc & ATHT ek THUHTH

Tl En H A i o devg gera?

[Question ID = 363][Question Description = Q31_AMM_PA_NAIR25FEB]
1. Only | is correct / &hdel | FETH

[Option ID = 1449]
2. Only | &Il are correct | hael | HIT I T8T6

[Option ID = 1450]
3. Only I, 1l & Il are correct / &aer |, I| 3T T6TE

[Option ID = 1451]
4 Alll, Il and IV are correct / eIT 1 1, 11 3T IV ®@ETE

[Option ID = 1452]

Correct Answer :-

® Al I W and IV are correct /8T L UL 1 3T IV WETE



[Option ID = 1452]

32) As per Model SOF, after lapse of permissible free time for payment
of BSV, payment of BSV is allowed with interest (certain percentage
above the Prime lending rate (PLR) of SBI) for the period beyond the
permissible: perod. What 15 the maximum permissible period for
Depot lots: from the date of auction?

ATsel THATI & AR, STUHAT & 31w & (o7 g @rell §aa &
TTTC o aTg; , sTURaT & $1aTcTTel ol 37T J7are Aoy arafe & fav
(THeliaTs 1 TeT IUR & (NUaiR) § 6 Fiderd dAfew) == &
T HeAAT &1 ST &) Aren#] @ ata 3 507 afe & fow sfiwas
T 3T T A7

[Question ID = 364][Question Description = Q32_AMM_PA_NAIR25FEB]

1. 30 days/ 30 &=

[Option ID = 1453]
2. 35days/35fe=

[Option ID = 1454]
3. 45days/45fea

[Option ID = 1455]
4. 0days / 60 fe=t
[Option ID = 1456]
Correct Answer :-
® 35days/35fe=

[Option ID = 1454]

33)  As per Model SOP, after what time from date of auction, delivery
can be given only with imposition of ground rent for 'line lot' of
scrap, except in exceptional circumstances

HISE THAATAT & 3TN, AT IRFUEET 51 SI5E, HterdHr
aRE ¥ oo B & @18 T30 & '@1sa die’ & Tav a3s {© aenad &y
TSelrardl &1 o weRdi &)
[Question ID = 365][Question Description = Q33_AMM_PA_NAIR25FEB]
- 50 days/ 50 B=
[Option ID = 1457]
2. g5days/ 65T
[Option ID = 1458]
3. 75days /75 %A

[Option ID = 1459]
4. 90 days/ 90 f&=r

[Option ID = 1460]

Correct Answer :-

* 65days/65fcH

[Option ID = 1458]



34) As per Model SOP. full power of refund of payment toward short
delivery of scrap with Finance concurrence with joint note duly
signed by gazette officer of stock holder lies with

) PCMM
M  cMM
) Dy CMM

Which of the following option is correct?
Aisel THIYT & FAIW |, Tk GRE & TY3d ATTHI Gany

FEaETE §aUEd Hic & @iy du o weta & o w39 f 59
fEelard & oo sy &1 araeh &1 of afed e gre &

1) drdivHTH

ny  HeHETH

iy 3 deaETH
farafaf@a 7 & &l o1 faeeT T8 e?

[Question ID = 366][Question Description = Q34_AMM_PA_NAIR25FEB]
1. Only | is correct / Thael | T6T &

[Option ID = 1461]
2. Only | & Il are correct / &ael | AN TETE
[Option ID = 1462]
3 Al I &Il are correct / TsfT |11 3 w8 E
[Option ID = 1463]
None of the given options is correct / v aw [ashed H§ 9 T
eI AR &1

[Option ID = 1464]

Correct Answer :-
®  Onlyl &l are correct / &rael | HITITET 6

[Option ID = 1462]

Powers to permit air lifting of Railway stores lies with

) PCMM up to their power of acceptance with concurrence of
PFA

i) CMM up to their power of acceptance with concurrence of
FA/Stores

Ity Dy CMM up to their power of acceptance with concurrence of
Dy FA/Stores

Which of the following option is correct?

o0 TTIRT 1 GaTS AT 8 3001 hT ST Tc] et T Ifaeal (o 9T
7
h dewe S aeata @, defivacs gan 39 e ia H afda as
l) THURERT AT TEAfT q, SIUHATH GaNT ST Talehi ST affed
&
Ity Foedt vwu/AeiRT & Weetel 3, Foedh siioareet gan 3=t TrEla
&1 9rfdd o
@ g &ls o faseg w27

[Question ID = 367][Question Description = Q35_AMM_PA_NAIR25FEB]
1. Only| is correct/ el | TEl &



[Option ID = 1465]
2. Only | &1l are correct / &haef | 31 TEI 8

[Option ID = 1466]
3. Al I &Il are correct / 8T 1 11 38R0 1 TET &

[Option ID = 1467]
4. None ofthe given options is correct/ feT 710 faeedt & @ 1S off T6l o6 &
[Option ID = 1468]

Correct Answer :-

®  Onlylis correct/ thadl | TaT &

[Option ID = 1465]

36) Forimport of item FOB means
T, & HET & fov FOB & A9 &

[Question ID = 368][Question Description = Q36_AMM_PA_NAIR25FEB]
1. Freight on Buyer / &al 9% H1ST

[Option ID = 1469]
2. Free on Board / @15 9 H%T

[Option ID = 1470]

3. Freedom of Buying / @{geT &l 3T<TIcT

[Option ID = 1471]
4. Foreign onsite Business / Tatelr Aiadse saad™

[Option ID = 1472]
Correct Answer :-
®  Free on Board / @5 9 A%

[Option ID = 1470]

37)  in a tender with condition of e-RA, Financial bids of 7 technically and
commercially suitable firms have been opened. Hew many of these
will be called for e-reverse auction

SHRT FT o F T UF AT F, 7 T AT e e §9
SueEd WA $1 fade aifeT @l 78 &) oo @ feaat @ S few
Aot & [orT e s

[Question ID = 369][Question Description = Q37_AMM_PA_NAIR25FEB]
1. The lowest 2 firms / Gag g 2 58

[Option ID = 1473]
2. Thelowest 3 firms | Sa@ for=er 3 ©F

[Option ID = 1474]
3 The lowest 4 firms / T Framir 4 w3

[Option ID = 1475]

Ta be decided by tender committee / RfaeT 9T caro v
Teram s Em
[Option ID = 1476]

4.

Correct Answer :-

The lowest 4 firms / Ta<T Sr=oir 4 B

[Option ID = 1475]



38) | a stores Depot, stock of an iterm 15 100 numbers at unit rate of Rs

245 Fresh supplies of same item for 200 numbers are received at all
inclusive purchase rate of Rs 260=00 and taken into stock MNow at
what rate indenter will be debited onissue of material
U T T84T #, Utk HISeH o] Tid 245 T9T ] 515 54 9% 100 Fa%
& &1 200 Fa¥ & Tore 5&f1 srsee 1 arar 39 260=00 T2 &1 &t
AT Wlg &3 9¥ 9ied &7 Al & 3N Tl & o o A B Ha
HIHAT ST =] O 5501 O Tohd G4 ¥ STelc TohdT SITean
[Question ID = 370][Question Description = Q38_AMM_PA_NAIR25FEB]
1. Rs245=00/ 245=00%
[Option ID = 1477]
2. Rs260=00/ 260=00 %
[Option ID = 1478]
3. Rs252=50/252=50F

[Option ID = 1479]
4. Rs255=00/255=00%

[Option ID = 1480]

Correct Answer :-
® Rs255=00/255=00%

[Option ID = 1480]

Sand box is used In

I}y Diesel locos
I} Electric locos
i) LHB coaches
V) BOXN wagons

Which of the following options is correct?
Hs atfers &1 I9Ter foar = &

(I) Sreer ol H

(Il) sofdes drwr &

(1) Toroadr wi #7

(IV) afrgus daeT 7
farafeida # ¥ wla o Aeea gar 87

[Question ID = 371][Question Description = Q39_AMM_PA_NAIR25FEB]
1. Only | is correct / &rael | 98T &

[Option ID = 1481]
2. Only land Il are correct | hder | 3T TETE

[Option ID = 1482]
3. Onlyl. Il and Il are correct / 3aer | Il 311 TETE

[Option ID = 1483]
4. AT, & IV are correct /AT 1L I HTIV 9618

[Option ID = 1484]

Correct Answer :-

® Onlyland !l are correct / dhaer | HT I TEE

[Option ID = 1482]



40) Who 1s the competent authority for debarment of a firm from
participation in any procurement process

Tl et a1 Tt ofr Wi Ofeear 7 9797 o § gTaafad &t & o7
TETH UITH &N ST 5?

[Question ID = 372][Question Description = Q40_AMM_PA_NAIR25FEB]
Accepting Authority of contract /[ JTeferey TGN ST drell

LIGED

[Option ID = 1485]
2. pPCMM | drdivETs

[Option ID = 1486]
3 oM/t

[Option ID = 1487]
4. Railway Board | {era @15

[Option ID = 1488]

Correct Answer :-

*  Railway Board | {@a @15

[Option ID = 1488]

41) Which is not the main objective of materials management function in
the Indian railways

R {od 3 STHET Gardet H1 & JET 36428 FIT 461 67
[Question ID = 373][Question Description = Q41_AMM_PA_NAIR25FEB]

To maintain uninterrupted supplies of quality materials, in time,
1. to user Deptt at minimum cost / STAETRAT [GomeT &7 ATH

AT O, FH X, A[OTErgeT S 1 forater s s wwen

[Option ID = 1489]

To maximize value of sale of scrap by promptly:selling inactive /
movable surplus and dead surplus items and other scrap P Way

2. jtems/ [AfS%T Hsed |, Iaw AN, HF HGAG FEEHT AR
Hedl T O F FFET T O =] TR 6 O F Aea &
TR T |

[Option ID = 1490]

To reduce matenals cost through standardization, wvanety
reduction, value analysis and import substitution / FT=hR0T,

Tafareran & @i, e TaedvoT 3 AT 9favTes & Areas §
T T ST BT FHH Bl
[Option ID = 1491]

To satisfy the public accountability at all stages of the
transaction relating to purchase, storage, issue of matenals /

TN Shl @AIG, TSHOT. AT thle] O TaTerd oide = & TaT I 7
BICEIEER=CECEE TR

[Option ID = 1492]

Correct Answer :-



To maximize value of sale of scrap by promptly:seling inactive /
movable surplus and dead surplus items and other scrap P Way

o items/ WTeFT sscH | AW AFTUAY, HT FIGNY TN 3R
Hed Thy U1 & GET & X suey TR & A § Hea &
T = |

[Option ID = 1490]

42)  \Who i3 competent authority for framing, reviewing, and circufating
PVC formula to all Rly units far engineering items.

sSitfeafErAeT & fore @it ter sersat & o drdiel widmr o
e, THTETT et 31T T &t & Tore swera ifarar anler 87
[Question ID = 374][Question Description = Q42_AMM_PA_NAIR25FEB]
" Northern railway / 3T Teld
[Option ID = 1493]
2. southern raiway / ZTETof Yo
[Option ID = 1494]
3 Western railway / T8 Yo
[Option ID = 1495]
4. South Central railway / gT&ToT #e=4 Yo

[Option ID = 1496]

Correct Answer :-

®  South Central railway / ET&T0T #eaT Terd

[Option ID = 1496]

43)  For local purchase of medicine, surgical items and consumables
through rate contract, please select the correct composition of
tender committee for terider of estimated value Rs 50 lakh
&{ H=ay (Rate Contract) & HIedH ¥ &al, Hlaieel a3l 3R
Iuelley TATEET $ T GG & e sy AaAiEd Hoa 50

arE T & fafagr & e AfaeT 9iHfa & a6 S & 99 #3)

[Question ID = 375][Question Description = Q43_AMM_PA_NAIR25FEB]

TC is of Srscale officers of Stares (Convener member), Medical
and Finance Departments. Accepting authority 1s JA Grade

1. Officer of Stores Deptt | [Afagr fAfa. =R (@0=F T559),
Frfeecar 3R Taw Tamer & aiies vo¢ & AR &1 g6 |
T e drel] QITemT ST5TY a8 &l =10 318 JTErdNT Blam |

[Option ID = 1497]

TC is of Srscale officers of Stores, Medical (Convener member),
and Finance Departmenis. Accepting authorty is JA Grade

2. Dfficer of Medical Deptt/ =Tagr afffa, R, ASwd (Faas
Hog) 3 Taa foemr & afiss Tar & Afowiwr & gelr |
Fellericl wierepill Fefehea faser & v ds &1 3w slam|

[Option ID = 1498]



TC is of 5rscale officers of Stores (Convener member), Medical
and Finance Departments. Accepting authority is JA Grade

3. Officer of Medical Deptt/ Rfacr gf@fa, TR (Fai= Tge),
Frfeear 3k fw s & aftss wax & sifefar & gl |
e TfermT FarfheaT s &1 STe s AR g

[Option ID = 1499]
TG is of Srscale officers of Stores Medical (Convener member),

and Finance Departments. Accepting authority is of JA Grade
4 Officer of Stores Deptt/ fafaer @f#fa, wIR, AfSHor (Faiers

Hod) AR Taa Taomr & aiss Ta¢ & HigwEr &1 gre |
IR Bl o] ATHEIN 815 Ta8T91 th <1 315 HTEHNT H1 57|

[Option ID = 1500]

Correct Answer :-

TC is of Srscale officers of Stores, Medical (Convener member),
and Finance Depariments. Accepting authority is JA Grade

o  Officer of Medical Deptt/ fafaer ofAfa, woR, Ao (GaTSh
Hoed) A Tan Tawrer & aiiss Tag &AM & gl |
Tt ol wifSeRil e [asmr &1 v dis @1 e sl

[Option ID = 1498]

44) Which one is not third party inspection agency finalized by Western
Railway for inspection of materals procured by Indian Railway

AR Yord garr WY 318 Tt & fodarr & oo ofdes
ganty &ie ¥ geita gar fdiaror voret #1 A1fow v =6 e e
[Question ID = 376][Question Description = Q44_AMM_PA_NAIR25FEB]
1. Interiek India Pvi Ltd / Sexee Sioar gsae fMides
[Option ID = 1501]
2. Bureau Veritas India Pyt Ltd fﬂﬁmﬁﬁmmﬁﬁﬁ

[Option ID = 1502]
3. TUV India Pyt Ltd / Ergdr sTear arsae fafes
[Option ID = 1503]
4 Lloyds Inspection India Pvt Ltd / Tg5H SFU@ 55T Y5
TifEes
[Option ID = 1504]

Correct Answer :-

o Lloyds Inspection India Pvt Lid/ W95 STI@TE 5541 W5
ToITdes
[Option ID = 1504]

45) As per IRS conditions of contract unless othenwise mentioned in
tender document, the contractor shall within X days, of posting of
written notice of acceptance of the offer to the contractor, shall
depostt the security deposit: Value of X is

gy fT NSRS dt & HTIR, 99 o o Afae eraes &
FHeadr Seold & faT I 81, SHER &I FEaTd ol Tdidic i fel i
AT e o & X TGAT & AT TIET A7 (Security deposit) ST
=] BRIl | X T HA &

[Question ID = 377][Question Description = Q45_AMM_PA_NAIR25FEB]



7 days/ 7 T
[Option ID = 1505]

14 days / 14 g
[Option ID = 1506]
21 days/ 21 fea
[Option ID = 1507]
30 days / 30 fe=r

w

&

[Option ID = 1508]
Correct Answer :-
® 2idays/21TEa
[Option ID = 1507]

46) Read the fallowing statements carefully
Fall clause is applicable in

I} Rate contract
I} Running contract
[Il)Fixed quantity contracts

Which of the following option is correct?

Frafafas Fue &1 camgie 1

9 9T (Fall Clause) SR 8l &

) & 3eay

) e

Wy  Teiees & & seaay

FAraTor e 7 & &t a1 faseT Tal 57

[Question ID = 378][Question Description = Q46_AMM_PA_NAIR25FEB]
1. Only | is correct/ gl | TaT &

[Option ID = 1509]
Only | & Il are correct / @hael | 31| T8I 8

[Option ID = 1510]
3011 &I are correct /|, 1| RN TETE

[Option ID = 1511]
, None of the given options is correst/ Trar GErd A g &e AT
TRl AR &

[Option ID = 1512]

2.

Correct Answer :-

® Only | is correct/ hael | T6l &

[Option ID = 1509]



47) A direct acceptance tender case was opened with validity of 80
days But this case was not decided within validity of 60 days. The
lowest technically suitable firm (L1) declined to extend its validity of
offer beyond 60 days. Other bidders extended validity of their offers.
What action in normal circumstance should have been taken by
tender deciding officer?
80 Te=T sy dere & 1Y Ush Yodaf (Direct) T f=fder @ierm a@m
o7 dife=r 59 A &1 e 60 &t 1 derar & sfaw A8t g3
ATl €9 & Ha¥ F L T 390d BH (Tel1) F I AT Hr
derar 60 Tear & ATUE g O S o] edrl 379 aieardi o
I gt 1 derar we &1 | S uRiufa 7 iy A o
AT TTERHT & T T LTS e TreT o

[Question ID = 379][Question Description = Q47_AMM_PA_NAIR25FEB]

Call the second lowest technically suitable firm (L2) for
negotiation of rate for full quantity / GXr #AT & folT g O aTcre ol

(Negetiation) & ToIT Zll Wad &H Agelel &9 ¥ 39450 T
-
[Option ID = 1513]
2. Give counter offer to L2 firm at quoted rate of L1 firm / Tel2 L
&I Ut G ol 35T G I HECT HH S
[Option ID = 1514]
3. Retender the case / T FiTdeT &Y
[Option ID = 1515]

Decide for urgent requirement of quantity on L-2 firm at
negotiaied rate and retender the balance quantity / &g

(Negotiation) ®T &Y O Uel-2 B U1 dcdhiel HIdedeh AT &
TA0T o 37 979 AT & G S F
[Option ID = 1516]

Correct Answer :-
* Retender the case / O=T: fATagT &Y

[Option ID = 1515]

48)  Read the following list carefully

I} Detonators
I} Fire extinguisher Foam type

1) Flags for hand signat

V)  Whistle (Guard)
Choose the correct option

TFatatad gl &l warAgds 98
) ey

) 3191 AT AT BIF TR
i) =73, 51 e & o

V) FiET @ms)

Hel Tdeded Ia

[Question ID = 380][Question Description = Q48_AMM_PA_NAIR25FEB]
1. Only | is safety item / 5ol | 67 S48 a5 6

[Option ID = 1517]



2. Only | & |l are safety fterns / &haer | 3117 || TT&T WSeA &

[Option ID = 1518]

3. Only |, 1t &Il are safety iterns / afet |, I 31X 11| TR&T aFAC &
[Option ID = 1519]

4 AL W I & IV are safety items /3T 1, 11, 111 3811V SR&T aFqe §

[Option ID = 1520]

Correct Answer :-

® AL I I &IV are safety tems / 8T 1, 11, 111 301V SR8 @80 §

[Option ID = 1520]

49) AAC of an item is 4000 nos, stock available is 500 nos, covered dues
are 1500 nos and Intenm peried (IP) is 6 months. Calculate net
procurable guantity (NPQ) of the item for contract period of one year
Ush &% &1 TUHT 4000 &, 3Teee T2 500 8, FaX derm 1500 § 3T
HANH AT (1S4 6HEH i) U v 67 I7eay Ha(a & o aeg 67

UG Wi LT HAT (TARL) bl 071 Y|

[Question ID = 381][Question Description = Q49_AMM_PA_NAIR25FEB]

' 3000 nos / 3000 =T

[Option ID = 1521]

2. 4000 nos / 4000 =T
[Option ID = 1522]

3. 5000 nos / 5000 7T
[Option ID = 1523]

4. 8000 nos / BOOO =T

[Option ID = 1524]

Correct Answer :-
® 4000 nos [ 4000 a1

[Option ID = 1522]

50) Inreference to Gem purchase, CRAC stands for
SH T S T A, CRACFHF I &
[Question ID = 382][Question Description = Q50_AMM_PA_NAIR25FEB]
Consignee's receipt & acceptance cettificate / HHEAT &l
e iR T i g o
[Option ID = 1525]
Consignee's rejection & acceptance certificate | FEE=T &1
e HI it g T o
[Option ID = 1526]

Consignee's rejection & acknowledgement certificate /

FHTSAT T HEAIGH ) N qTacll FHTT 9

[Option ID = 1527]
Consignee's receipt & acknowledgement certificate / #8151

&1 e 3R AT yH=oT O

[Option ID = 1528]

1

Correct Answer :-



Consignee's receipt & acceptance cettificate [ HaT5AT @l
i 371X iR il g o

[Option ID = 1525]

51) Which member at Railway Board is head of Stores Department?
o7 1S # i § §oTa TR e E vAHE g b

[Question ID = 383][Question Description = Q51_AMM_PA_NAIR25FEB]
1. Member Infrastruciure | S0 HaG=T

[Option ID = 1529]
Member Operations and Business development [ Ja&d Sdiol=

R T A
[Option ID = 1530]

3. Member Traction and Rolling Stock / Feea &yt 3y Qe weis
[Option ID = 1531] _
Chairman and Chief Executive Officer / 3<TaT 3T 7&T FESHT

FferaRT

[Option ID = 1532]

4.

Correct Answer :-

* Member Traction and Rolling Stock / Sewa &Y9T 31X Afer Tele

[Option ID = 1531]

52) What is the target of total value of scrap sold by Indian railways for

year 2023-24
aY 2023-24 % U AR ol GanT a9 S arel ¥ & Fol 7o
FIOET T

[Question ID = 384][Question Description = Q52_AMM_PA_NAIR25FEB]

Rz 4250 Crores [ 4250 &A1S T3
[Option ID = 1533]

2. Rs 5200 Crores { 5200 &30 5937
[Option ID = 1534]

3. Rs 8375 Crores / 6375 TS T4

[Option ID = 1535]
Mone of the given options.s correct/ TgT 317 fa@edt # § &5

HET 0T &

[Option ID = 1536]

4.

Correct Answer :-

® Rs 5200 Crores / 5200 &{ls 593

[Option ID = 1534]

53) Gate pass Is issued In Stores Depat for

i g Fel RO A Thw oo S sman g

[Question ID = 385][Question Description = Q53_AMM_PA_NAIR25FEB]
1. Entry of material in Stores Depot / $iST¢ 397 # ST & 9asr
[Option ID = 1537]

Transfer of material from one ward to another in Stores Depot

| S1STR FEOT 21 T &l U aTs ¥ g3 aTs 3 TUTAANG Far



[Option ID = 1538]
3. Entry of any person in stores depot / #5751 37 Tt &7
IR IR CE
[Option ID = 1539]
4 For materials leaving the stores Depot / 815K oy & AFa
ITel] FFAETIRT & o
[Option ID = 1540]

Correct Answer :-
For materials leaving the stores Depot / #i5 201 @ A@eer
aTel] ST & o

[Option ID = 1540]

What is the full form of ASRS.

U O IR O @ OO 9 167

[Question ID = 386][Question Description = Q54_AMM_PA_NAIR25FEB]

, Acceptance Supply and Receipt System / Tdleid e 3R

qIfCe guTelr

[Option ID = 1541]

Automated Storage and Retrieval System / Fa=lTTold $5ROT

e qEffes o

[Option ID = 1542]

3 Autornatic Storage and Receiving System / Ta=Teld H5HUT
FHR riee gomeT

[Option ID = 1543]
Automated Stocking and Receiving system / TSIl Te Tl
3R grTtd ot

[Option ID = 1544]

4.

Correct Answer :-
. Automated Storage and Refrieval System / Tl {EROT
3 g JoTe

[Option ID = 1542]

55) |na Stores Depot ward layout what does the term ‘aisle’ refer to?

TE A5 & TI3T3C 7 ATeraTy eree & & 3T B2

[Question ID = 387][Question Description = Q55_AMM_PA_NAIR25FEB]
1. Area where keys are kept / @& &7 ST6l 914a1 T4 AT &

[Option ID = 1545]

A narrow path for forklifis in storage wards / 8ISRUT arst #

TrRToITE & FoTT v ST T

[Option ID = 1546]
3. A shelf for stocking materials./ TTEI TG & [T T 9e®

[Option ID = 1547]
4.  Sitting area of ward keeper / 15 F19T F do=r F7 817

2.

[Option ID = 1548]



Correct Answer :-
. A narrow path for forklifts in storage wards / #SRYT st #1
RIS & FoTT ve ST e

[Option ID = 1546]

56) WWhat is the validity of Inspection ceriificate
TEXIGTOT SATITOA hi el #4767

[Question ID = 388][Question Description = Q56_AMM_PA_NAIR25FEB]
1 7days/TTew
[Option ID = 1549]
2 {adays/ 14T
[Option ID = 1550]
3 30days/30f=
[Option ID = 1551]
4 45 days/ 45 fe=
[Option ID = 1552]

Correct Answer :-
®  30days/20fE=
[Option ID = 1551]

.A lot of material is received in Depot after inspection. A sample is
then sent for destructive test. Who bears the cost of destroyed
iterms in destructive test, if lot 1s passed after test.
e & a weEh B & gea @ oS 8 R oE A
Taemererr olaToT & T ST en ) afe 90ET & ai dic
oI g1 Ser & o faEsem aleier F ave 55 ardal & e
Fi d6eT AT B
[Question ID = 389][Question Description = Q57_AMM_PA_NAIR25FEB]
1. Vendor / fagar

[Option ID = 1553]
2. |ndian Railways / #EE W

[Option ID = 1554]
3 TPl agency/ &3S vl

[Option ID = 1555]

Cost is divided equally between vendor & Indian Railways /
4. AT Y TS 3T SR Yord & i T &9 3 fasnfo v

SR
[Option ID = 1556]

Correct Answer :-
® Indian Railways / ST 3T

[Option ID = 1554]

58) What procedure is followed in case of pre inspected material is
rejected after receipt by the consignee

fe o FdiaToT ehY 375 Il aTCehal Gan o Bl & a1g JEaTR
& &1 el & et a wid A e &

[Question ID = 390][Question Description = Q58_AMM_PA_NAIR25FEB]



1. Material is returned to vendor for replacement / STce2mdest &
e sl fareha &t witer &1 e &

[Option ID = 1557]
Material is accepted and warranty replacement is called from

- yendor / TEET TR &Y o omar £ 3 fawa & Ol
gferearyer & o Far Smary

[Option ID = 1558]
Joint inspection is called with consignee, TPl agency and

vendor/ ST, ETHTHTS ToreT 37 farsra & wrer waad fordierer
T SoTAT AT &

N

w

[Option ID = 1559]
Material is sent to scrap yard as rejected store / TTFEN &f

' IEdiFd TR & A THT A H ST TG0
[Option ID = 1560]

Correct Answer :-

Joint inspection is called with consignee, TPl agency and

o vendor/ FETST, Erdvans werh i Faskar & wryr e folaror
&I T AT S

[Option ID = 1559]

59)  Bill of entry for imported consignments is used for
HraTad @t & fole qaer Taer & 392 e aran g

[Question ID = 391][Question Description = Q59_AMM_PA_NAIR25FEB]
Entry of the consignment on ship/aircraft / STal=T/TaH= 9 ©@9
CaReCE]

1.

[Option ID = 1561]
Clearance of consignment from the customs | T1#T e § @Y

2.
CANECaE]
[Option ID = 1562]
;  For loading of consignments on trucks / Zeh! 9X ATel & wl1TSaT &
forw
[Option ID = 1563]
. For entering Imported consignment at Stores Depot / e B

F HrTaT WY g F & o
[Option ID = 1564]

Correct Answer :-

Clearance of consignment from the customs / H1#T e § @Y
ehl feterTail

[Option ID = 1562]



60) In a depot transfer, a material different to the description in the issue
note is received Read the following statements carefully as per
Stores Code

[} The stores should be accounied for according to the correct
description, if it is of use in recetving depot.

II) The material should not be ordinarily be refurned to the sending
depot unless it is not likely to be of use in the receiving depot or
the sending depot calls for the refum of the same

IIl} The material is returned to the sending depot immediately.

V) When the material is returned, depot fransfer documents of
material sending depot are written on top “returned as of wrong
description” and new and fresh depot transfer documents are
not to be prepared.

Which of the following option is correct?

AT TR #, ST Ae # fGU a0 Taager 3 T8 S Ied giar
1 TR FI5 & AR Ao iad Fuar o eae ¥ 0
) afEeusR, oSt arer 50 3 3Tt 8), At sudr e @
TeraoT & ST=TaR o ST =T |
1} TR FEOR 9 ST ater BT &) ara =161 fehar STi= J1fav
ST e To SToereha TSuT ¥ S Iuier T TeTEe o 61 47 sty
CICISEEIRT IR ETE B T e S|
111y ST AR Siie aTel FSUT &1 19w # o S Siel
V) ST @l araw & AT & AT AT Seter arer f2ur & BT
FATHIALT et & MY O "ere Taator & &9 & dlern s
ToraT A= Trfed HiT Av AR e B9 S ee s dan
ol Tohe =iy ATled|
Toreafetaa & & wi= a1 faeweT T &7
[Question ID = 392][Question Description = Q60_AMM_PA_NAIR25FEB]
' Only | &I/ Seer | 3R

[Option ID = 1565]
2. Only |l & IV [ Faer || #R IV

[Option ID = 1566]

3. Only Il & IV / et Il FTIV

[Option ID = 1567]

Nore of the given options is correct / feT 910 [d@wedi § T &5
Tl B

[Option ID = 1568]

Correct Answer :-
® Onlyl &Il /&aeT) 3R

[Option ID = 1565]



61) |n a direct acceptance tender with mandatory EMD, the lowest
technically suitable bidder (L1} has quoted Rs100=00. The second
lowest technically suitable bidder (L2) has quoted Rs 110=00_ L1
bidder revises its offer to Rs 105=00 within validity of offer. Last
purchase rate which is one year old is Rs103=00. What action s to

be taken by accepting authority
HfAar SuAST & 91 yegwl (Direct) Tpid Hfder #, qad &4
Teiich! TF & STLeT dleil w121+ atel (Tel1) =¥ 100=00 T T gl
TS §1 GHY AW B fdcheileh] § & IUGHT dlell eraleT arel (Ter2)
7 110=00 FI= ST dTel oS &1 L1 @Gl Teaid o g2 & At
3T TEdTE o WRATEE &Y 105=00 TUd o a1 & Ifoa @lig gx
ST UE a9 WA § a6 103=00 ¥9 &) Hfaer TR F anr
siferenrdt ganr @ FETs $ ST e
[Question ID = 393][Question Description = Q61_AMM_PA_NAIR25FEB]
Offer of L1 bidder s to be considered at Rs. 105=00 / TeTl
ATCTE T T JereRer O 105=00 T 9T Tar=y fehar S snigdr

1.

[Option ID = 1569]
Offer of L1 bidder is to be considered at Rs 100=00 / T

ARSI shT URreRar 100=00 T9% ¥ Ta=w &y smeelr
[Option ID = 1570]

EMD of L1 bidder is to be forfeited and case is to be retendered./
3.yt dvelierar i SuHS sted & o el 3R e & ganr
& (Retender) Tosam SiTeaT|

[Option ID = 1571]
Counter offer 1s to be given to L2 bidder for Rs100=00 for urgent
quantity and balance guantity is to be retendered/ FcOTa3de

AT [0 L2 Selear & 100=00 $99 &1 &3 3w fear aEr
=fadr 3 2w &= & fore EramT &5 & 51|

[Option ID = 1572]
Correct Answer :-

EMD of L1 bidder is to be forfeited and case is to be retendered /
® Tart AIIEAr T SUHST STed & ol Swait Hiv fATaer &t e
& (Retender) fosam STeaT|

[Option ID = 1571]

62) As per stores code Vol |l for stores issued on loan fo other railways,
which of the following statements is incorrect

3T Yord Y HOT W AN T 0 TR F 6T FeR #i5 alegam 1| 5
HER, FAFaTel @ # 8 Sl T U= e &
[Question ID = 394][Question Description = Q62_AMM_PA_NAIR25FEB]

It should be witnessed by an account representative and
countersigned by him on issue note / 58 Teh W Ui T4 §al

&ET ST IR0 A S AT 91 398 ga 9iagEanaiid g
Eligy
[Option ID = 1573]

This issue note then be signed by a gazette officer of Stores
2. Deptt | 55 T59# Alc W ¥R [a90@1 & U U=auig AfTERT

CANT GEATGI fhU STda




[Option ID = 1574]
The ordinary issue note should be used and allocated to
"Miscellaneous advance account”/ TFTe =R AE &1 304

TR ST ST A I TaTaer 37w & andled Toar =i=n
=nfew]

[Option ID = 1575]
Debit will be raised against the borrowing railway / FETT o= @Tel

ToId & Ta%ey STaT 3orm S|

[Option ID = 1576]

Correct Answer :- Deleted

63) As per stores code Vol Il, the Depot officer may waive departmenital
stock verification In the following circumstance. Which of the
following statements is incorrect?

TR @15 @5 || & =, Bt st Geafataa aifRafoar
faeymaira Teier Woard= & G & Wl b | FeTel e 7 § &ie a1 &
rere &7

[Question ID = 395][Question Description = Q63_AMM_PA_NAIR25FEB]
where the item has been verified by the Accounts Department

1. within in the last three months / ST6T 3TSeH &1 THH di= AGlT
& ST WrdT TaeATeT SanT Seaniad f9a /@ §
[Option ID = 1577]

where the account verification of the particular class of stores is
in progress and the item is likely to be verified within next two

2 months / =TT farere Amfr & FERT ST WiAT TeATI T 6T & AN
FTR BT AG & e 35eH Sl el thl WeIas &
[Option ID = 1578]
Where the item has heavy balances, the verification of which
] invalves much labour and handling charges./ STET 3TSeH # 8T

AT &Y, TSreTch Soamst #1 g FTe A 31T §sTeler o anfaer
il

[Option ID = 1579]

where the accouni verification of that ifem in due in next. 6
months/ ST 3316l 6 FEET 3 39 FTSEH &l Wil Todid= 8l &

[Option ID = 1580]

Correct Answer :-

where the account verification of that item in due in next. 8
months/ ST H3Tel 6 FEI=T 3 39 JT5eH &l Wil o= 8l &

[Option ID = 1580]

64) As per Stores Code, ‘Advice Notes' are prepared
TE IS & I, 'TATE e (Advice Note) R TR ST &

[Question ID = 396][Question Description = Q64_AMM_PA_NAIR25FEB]
For advice by Purchase office to depot for likely supplies of
covered dues of tems in next 8 moriths / 39T 6 H&AT 7

| TaX T IS FERET G T W 3 & o wlg
FITerT gan f541 &1 9el16 Al

[Option ID = 1581]



For Returned Stores’ by all department for returning the
unused material to Stores Depot / YT HIFA Bl TER

TEOT # aray atey & Torw gt Tasrmai gany weR dlemw 3w &
o)

[Option ID = 1582]
For issue of notice to supplier after expiry of delivery

3. period/ fEelradl afes TS e & drg 3MYfciaal @ aAlew
EETGET!
[Option ID = 1583]

To advice to stocking wards of stores depot by receipt
ward of stores depot to promptly [ift accepted items /

* e aE @ aUd SoRT & T TR R & Wi ar
ZaNT T f20t o Te2ie arst &Y Telg g
[Option ID = 1584]

Correct Answer :-

For ‘Returned Stores’ by all department for returning the
unused material to Stores Depot/ YT TIFAT & T

D e st e
.

[Option ID = 1582]

65) As per Stores Code Vol-ll, Survey Committee should mest

TERI 15 Us-2 & TN, TAaTo] SitTd &1 d6m sl aret
[Question ID = 397][Question Description = Q65_AMM_PA_NAIR25FEB]
1 Naot less frequently than once in 3 months/ 3 FGIeT & U

a1 T & Jnl

[Option ID = 1585]
Not less frequently than once i’ 8 months / 6 TR 3 T

I G &H T60

[Option ID = 1586]

Mot less frequently than once in 12 months/ 12 #ERT &
Ueh 1T 3 e ST

[Option ID = 1587]
None of the given options is correct/ BT 71T faeeal & T

mEwE

[Option ID = 1588]

3.

4

Correct Answer :-
Not less frequently than once in' & manths / 6 T8I 37 Tk

TN Y T A6

[Option ID = 1586]



66) As per Stores Code, read following statements for sale of railway
rmaterial through auction sale

I} A portion of line can be sold with the approval of FCMM
with previous-sanction of GM

Iy Any itemm of authorized rolling stock can be sold with
personal sanction of PFA & approval of GM

Which of the following options is correct?

TER FI5 & HATW, ATCTHT T & ATZH T Io7d T & Tt &
fow faeafaras faavor ae
) TS T U TR SO ST 9 Hed & vy dRfreATs S
HeTll W &= ST Hhel
Ity sferge felr Teie & @I 67 Tt SUhT &1 caiddand
FHorly 31 Sfreer o1 #p{r & e S=i 5 W 8
fereATo @ # & &i= a1 ey aer 67

[Question ID = 398][Question Description = Q66_AMM_PA_NAIR25FEB]

1. i 2 £ 5
Only | is correct / F5+1 | 75T 2

[Option ID = 1589]
2. Only Il is correct / &ael | T8 &

[Option ID = 1590]

3. | &Il both are correct !/ | 31 ST T8I B

[Option ID = 1591]
4. | & |l both areincorrect ! | 3TN EST 9T &

[Option ID = 1592]

Correct Answer :-

® | &/l both arelincarrect /| I ST ITE

[Option ID = 1592]

The figures fo be shown as the opening balance in stores budget for
the ensuing vear will be estimated figure made up of

I} The estimated book value of stores expected to be in stock
atthe end of the current year.

Il The estimated net result of outstanding balance under the
stores suspense heads of purchases- imported, indigenous,
sales etc

I The amount expected fo be out standing in the stock
adjusimeni account, after the accounts for the year are
closed

Which of the following options is correct?

ST 99 & AT FER doc 7 AT A9 & §9 7 fEEe ot arer

3RS STFATI= SRS T &=t Glar

1) $ST T HAAITA deh dog ST =ATe a¥ & el 31 TTeh 7 pley i
TFATE B

II) 875 TEUH & A= N9 - HAicd @ilg, @¥e @llg g
fadhr & e

) 9 & T @ a¢ 51+ & aig, Foih THTS WTol # sl
IAIAT 9

FereTeriae & W &l W1 T Warg?

[Question ID = 399][Question Description = Q67_AMM_PA_NAIR25FEB]



1. Only | &Il are correct/ &aer | 37 || TErE

[Option ID = 1593]
2. Only Il & Il are correct! dae || T FETE

[Option ID = 1594]
3. Onlyl &Il are correct/ &aer | 371 T8TE

[Option ID = 1595]
4| L& all are correct! |, 11 3TN ST EETE

[Option ID = 1596]

Correct Answer :-
® |, I &IN all are correct! |, 11 31N Tt TETE

[Option ID = 1596]

68) As per policy of public procurement (preference to make in India
arder) — local content means the amount of value added in India,
For calculation of local content, which of the following is correct

wase @lig &1 Aifd & IR (@d # AfddT avan w®
qreT TR TGN - T T ( Local Content) &7 FdleTd 84T 1
SIS AT #ea Sl HAT f, FUTA T I b1 107 & fore, foeforiad #1
D BRI

[Question ID = 400][Question Description = Q68_AMM_PA_NAIR25FEB]

Total value of item procured (including net domestic
indirect taxes) minus the value of imported content in item

1. (excluding all custom duty)./ @ET 31 aFd F1 &l Hedl
(UG W AYCTET FU Afed) § T2 oG 7 AT
T T Hed (Tl AT 2o &l Bisa]) |

[Option ID = 1597]

Total value of Kem procured (excluding net domestic
indirect taxes) minus the value of imported content in the

, ttem( including all custom duty)/ TET 15 T FT & 7o
(AET Y FYCTET 1 & IS § e avd & Iafad
T & el (S T oaes atea)

[Option ID = 1598]
Taotal value of item procured ( including net domestic
indirect taxes) minus the value of imported content in item (

including all custorm duty)/ THET TS T &1 & Hed (A5
Y] HYCTRT Y Aiad) ¥ B g 7 Hiad Wi s
A (T TAT AqEF Hied)

[Option ID = 1599]

Total value of item procured ( excluding net domestic
indirect taxes) minus the value of imported content in the

4. item( excluding all custom duties) WIET 315 GEc & HoT
AT (AT T IYCTET A0 I BIsHT) T HERY avd 7
STTeTTerel T & Fod (T ST ot Tl BIsaT)

[Option ID = 1600]

Correct Answer :-



Total value of Kem procured (excluding net domestic
indirect taxes) minus the value of imported content in the

item( including all custorn duty)/ TXTET 375 T &1 &l Ao d
(AET Y FYCTET 1 & IS § e avd & Iafad
T & el (S T oaes atea)

[Option ID = 1598]

69)  As per policy of public procurement (preference to make in India
arder) — for ealculation of local content read the- following
statements carefully

)  For value of imported content, cost of transportation,
insurance and training will be taken into account.
II) For wvalue of imported content, cost of installation,
commissioning, after sale service support like AMC/CMC
will be taken into account.

Which of the following options is_correct?

Tawifeir @ig &7 Aifa & a0R (T & [ ot &
T fHer) 39 - TR TEET ( Local Content) T 31051 & folT
TAraATaTad HU= & 20 § T
(1) ST WA & #Hea & e, TRage, drm 3R gieTor 6
ST 1 £ # @1 AT |
(I1) ST S & #e & for, warger, s, Rl E
i, UCHHIICHET ST SaT ST i oEd &l ST A 1@n
AT |
fAFaTaTEd 7 & &l |1 [deed T6l &

[Question ID = 401][Question Description = Q69_AMM_PA_NAIR25FEB]
1. Only | s correct! ool | T6T &

[Option ID = 1601]
2. Only Il is correct | hael || T E

[Option ID = 1602]

3. | &l both arecorrect /| AT I ERTTETE
[Option ID = 1603]

4. | &l both areiincorrect / | 3TN ST I &

[Option ID = 1604]

Correct Answer :-

® | &l both arelincormrect / | TN ST I &

[Option ID = 1604]

70)  As per Stores Code who approves the list of iterns for departmental
Stock Verification

TR HI5 & TR a8 TEle Tedmas] & [oe aeeT & §arar
EOCEE i FCIE

[Question ID = 402][Question Description = Q70_AMM_PA_NAIR25FEB]
1. Depot Officer / [S9T HTERNT

[Option ID = 1605] _
In charge Account Officer of Depot / TE4T @ garmr sr@m

FTERRT



[Option ID = 1606]
3 CMMHQ HieHETHFEEITS
[Option ID = 1607]

4 PCMM / drefoaTa

[Option ID = 1608]

Correct Answer :-

®  PCMM / drdmET

[Option ID = 1608]

71)  Who is the chairman of Central Hindi Committee
S Rdramfa e aema s g
[Question ID = 403][Question Description = Q71_AMM_PA_NAIR25FEB]
Home minister/ 3G &4T
[Option ID = 1609]
2. Prime minister / SeIT= &4
[Option ID = 1610]
3. Finance minister/ 9 #7137
[Option ID = 1611]
4. None of the given options / feT e fawedt & & @15 =87

[Option ID = 1612]

Correct Answer :-
®  Prime minister | TET= HAT

[Option ID = 1610]

72) From which date did Section 3 of the official languages Act 1963
take effect

TTT8TT ST T=1a9 1963 o T 3 fae Tafer & gemmdl 65

[Question ID = 404][Question Description = Q72_AMM_PA_NAIR25FEB]
1. 26 January 1963/ 26 S=1a{l 1963

[Option ID = 1613]
2. 25 January 1965 / 26 A= 1965

[Option ID = 1614]

3. 15 August 1963 / 15 3791ed 1963
[Option ID = 1615]

4. 15 August 1965 / 15 39T 1965

[Option ID = 1616]

Correct Answer :-

® 26 January 1965 / 26 Si=adr 1965
[Option ID = 1614]

73) How many Indian languages are included in the eight schedule of the
constitution
ST T HTEdT HARET # fehctel SR $TTe e &
[Question ID = 405][Question Description = Q73_AMM_PA_NAIR25FEB]
1. 15
[Option ID = 1617]
2. 49
[Option ID = 1618]
3. 99



[Option ID = 1619]
4. a5

[Option ID = 1620]

Correct Answer :-
¢ 2
[Option ID = 1619]

74)  Which date did the constitution accept Hindi as the official language
of the Union

Trae= = fovg fafdr &1 [ges o T hl TT8I9T o $9 3 TAEN hdl
[Question ID = 406][Question Description = Q74_AMM_PA_NAIR25FEB]
1. January 10, 1949 / 10 SI=idir 1949
[Option ID = 1621]

2. January 26, 1950 / 26 =TT 1950
[Option ID = 1622]

3. September 14. 1949 / 14 f&a#av 1949
[Option ID = 1623]

4. October 25, 1952 / 25 37egay 1952
[Option ID = 1624]

Correct Answer :-
®  September 14, 1949 / 14 [EaFa¥ 1949
[Option ID = 1623]

75) How many Rajya Sabha members are there in the committee of
parliament on official language

T & T T & U9 & hds 9T 8lg 57

[Question ID = 407][Question Description = Q75_AMM_PA_NAIR25FEB]

(A

[Option ID = 1625]
2. 40

[Option ID = 1626]
15

[Option ID = 1627]
4. 99

[Option ID = 1628]

Correct Answer :-
° 10

[Option ID = 1626]

76) \What is the name of award given for writing original book in Hindi on
technical railway subjects

YT et gt O% fEeT 1 #ifes s forger & fae v sey arey
TR & T A 77
[Question ID = 408][Question Description = Q76_AMM_PA_NAIR25FEB]

1. Visvesvaraya Technical Rallway Book Puruskar / Fa=r=sar
AFA ] AT T d TP

[Option ID = 1629]
Rajeev Gandhi Takniki Maulik Lekhon Awards [ {=iig arreft

el HITeh o@e [WEPR



[Option ID = 1630]
Lal Bahadur Shastri Takniki Maulik Lekhon Awards / =Tl

FRICT AT TieheehT Hifoleh oget Wb

[Option ID = 1631]

Atal Bihari Bajpai Takniki Maulik Lekhon Awards / 3eel TagRT
AT dehetleh) Aol AT GEhR

[Option ID = 1632]

Correct Answer :-
Lal Bahadur Shastri Takniki Maulik Lekhon Awards / =Tl

ARIET AT Aeh=eh] Hifolsd g WEhR

[Option ID = 1631]

77) \Which is the most elementary Hindi course prescribed for ceniral
Govt. employees

FATT EEN o HHAN & (00 ey, Ta8 IRieE Gl qoa6a
wiFATR?
[Question ID = 409][Question Description = Q77_AMM_PA_NAIR25FEB]
- Praveen / gdior
[Option ID = 1633]
2. Prabodh / FaTer
[Option ID = 1634]
3. Pragya /918
[Option ID = 1635]
4. Parangat / AT
[Option ID = 1636]

Correct Answer :-
® Prabodh / 9aTel
[Option ID = 1634]

78) Which article of constitution provides for the official languages of the
Indian union

HiEET= & &i=l 6T He[eog AR T &1 s A &
AT FAAT &

[Question ID = 410][Question Description = Q78_AMM_PA_NAIR25FEB]
1 341
[Option ID = 1637]
2. 342
[Option ID = 1638]
3. 343
[Option ID = 1639]
4. 344

[Option ID = 1640]

Correct Answer :-
¢ 343
[Option ID = 1639]



79) Which formn of numerals should be used in official purpose of union of
India
T T & UShld SHa=1 3 a6 6T §9 & gaier T Jr=r
Bliy

[Question ID = 411][Question Description = Q79_AMM_PA_NAIR25FEB]

1 Devanagiri numerals | ZE=IETT 3T

[Option ID = 1641]
2. Roman numerals / 5= 3&

[Option ID = 1642]
International forrm of Indian numerals | SO A&l &

HOUSET §

[Option ID = 1643]

None of the given options is correct/ ToT 9T [a&edl & TFE
SHEES

[Option ID = 1644]

Correct Answer :-
International forrm of Indian numerals | O™ A& &

FHAUSET F

[Option ID = 1643]

80) What is the periodicity of organizing meeting of the Town official
language implementation committes’

T TTHT e T hir dee 3maierg &ty &y aar e
)

[Question ID = 412][Question Description = Q80_AMM_PA_NAIR25FEB]
1. QOneein 3 maonths [ 3 HE & U g0

[Option ID = 1645]
2. QOnce in 6 months / 6 &R # U a1

[Option ID = 1646]
3. Onceina year /| TT6T F TF a1C

[Option ID = 1647]
Mone of the given opfions is correct/ BT 90 faedT 7 T &5

el A6l &

[Option ID = 1648]

Correct Answer :-
® Once in 6 months / 6 A& H Uk a0
[Option ID = 1646]

Topic:- AMM_PB_NAIR25FEB

) What is the full form of UMID.

JUA HEE FIOIFTFATE?
[Question ID = 413][Question Description = Q01_AMM_PB_NAIR25FEB]
' Unique medical Identity card/ fafRre e og=m= o=

[Option ID = 1649]

2. Universal medical identity card/ Zieade ATSshol Tg==d 99

[Option ID = 1650]



3 Unique medical Identification details/ TafRrse Rrfsremr ag=ma faor

[Option ID = 1651]

4. None of the given options is correct/ TET 31T fasredi & ¥ g TWeT el &

[Option ID = 1652]

Correct Answer :-
* Unique medical Identity card/ fafarse RifFrcargge= 9w

[Option ID = 1649]

2) MNo disciplinary proceedings can be intiated against a retired railway
servant for an offence that had taken place more than before
the 1ssue of charge sheet
HEIFEgT tod FHAET F (FATE R1E ASAATHE FEala] 5% A5 @l =
THAT 2}

[Question ID = 414][Question Description = Q02_AMM_PB_NAIR25FEB]

' 8 month/6 FE=T

[Option ID = 1653]
2. 4 year/19¥
[Option ID = 1654]
3 2years/299
[Option ID = 1655]
4 4 years/4 9%
[Option ID = 1656]

Correct Answer :-

® 4 years/4 39
[Option ID = 1656]

3) A new railway employee who avails public holidays, joins service on 1st
October 2023. She will be entitled to how may days of casual leave for
remaining year of 2023,

TF FAT AT FHAT ] AT ATA A AF G iea1 F AT 231 8, 1 ¥F=ar 2023 Fraa7
& ST ATAT &) 77 2023 T 419 a0 F Ty heret Tt 47 s fewren ol 7 2eTe
R

[Question ID = 415][Question Description = Q03_AMM_PB_NAIR25FEB]

2 days/2ea
[Option ID = 1657]
2. 3days/3fem
[Option ID = 1658]
3. 4days/4feT
[Option ID = 1659]
4 gdays/8Tew

[Option ID = 1660]

Correct Answer :-
* 8days/8feT
[Option ID = 1660]

4) What s admissible joining time for railway servant under transfer,
provided distance of new station from old station is more than 1000 km
but less than 2000 km.
w=oim | A eEsr 61 3¢0 1000 T = sfeE Afwa 2000 5 F5 21



[Question ID = 416][Question Description = Q04_AMM_PB_NAIR25FEB]
1. 10 days/ 10 i

[Option ID = 1661]

2. 12days/ 12 &=
[Option ID = 1662]

3. 15days/ 15 ’eea
[Option ID = 1663]

4. 18 days/ 18 T&=F

[Option ID = 1664]

Correct Answer :-
* 12days/ 12 e

[Option ID = 1662]

5) Under right to information act 2005, after receiving the request for
obtaining information from the applicant in how many days shall public
information officer provide the information to the applicant
TEAT T ATIHE AT vFs 2005 T AT AGEF 5 AT ATH Fod g AEET
ATH 21 T ATF JA9] FGFT] Had (2 # SF=F T AT T8 Fo07T]

[Question ID = 417][Question Description = Q05_AMM_PB_NAIR25FEB]
Within 15 days of the receipt of request/ FUT 9Tod 811 F 15 feaT

& A
[Option ID = 1665]
Within 30 days of the receipt of request/ U IT=T 214 % 30

e

[Option ID = 1666]
Within 45 days of the receipt of request/ H@HWE\?#%

et & afraT

[Option ID = 1667]
Within 60 days of the receipt of request/ JeRre 1o &1 % 60

et ¥ ofrax

[Option ID = 1668]

3.

4.

Correct Answer :-

Within 30 days of the receipt of request/ 3RTe ITod &1 30
et & sfiaT

[Option ID = 1666]

6) The interest of House building advance (HBA) is recovered in maximum
installments Ny
TE AT AR (=) FT = aiaa T 5 397 Torgm AT &

[Question ID = 418][Question Description = Q06_AMM_PB_NAIR25FEB]

1. 30

[Option ID = 1669]
2. 45

[Option ID = 1670]
3. 80

[Option ID = 1671]
4. a0

[Option ID = 1672]



Correct Answer :-
® B0
[Option ID = 1671]

7) Period of appeal under Discipline and appeal (DAR) rulesis_____ days
AT ;e FAF (T AT FoAeT Wi 4 odmE_ " T

[Question ID = 419][Question Description = Q07_AMM_PB_NAIR25FEB]
1. 15

[Option ID = 1673]
2. ap

[Option ID = 1674]
3. 45

[Option ID = 1675]
4. &0

[Option ID = 1676]

Correct Answer :-
® 45
[Option ID = 1675]

8) Which is the 'standard form’ used for suspension?

faeaa ¥ or ygFa aes saasigarg?
[Question ID = 420][Question Description = Q08_AMM_PB_NAIR25FEB]
1. SF-1/THTE -1

[Option ID = 1677]

2. SF-2/THUE-2
[Option ID = 1678]

3 SF-4/THTE-4
[Option ID = 1679]

4 SF-5/THTE-5
[Option ID = 1680]

Correct Answer :-

® SF-1/THT®H -1

[Option ID = 1677]

9) The online platform created exclusively for airing suggestion’ and
grievances by the railway pensioners and for solving the pension
related issues is called ;

T F FOA (AT (G = T AT AT A E F T FETATAT
zl

[Question ID = 421][Question Description = Q09_AMM_PB_NAIR25FEB]

' HRMS/ TII3RUATHE
[Option ID = 1681]

2 |PAS/ 3TEITH
[Option ID = 1682]

3 CPGRAM/ Brdrams
[Option ID = 1683]

4 ARPAN/ 3907
[Option ID = 1684]



Correct Answer :-

* ARPAN/ ¥9UT
[Option ID = 1684]

10 What s the full form of PREM?
HRETH F7 0T F9 FTE7?
[Question ID = 422][Question Description = Q10_AMM_PB_NAIR25FEB]
1. Preserving Relations between Employees and Management/
FH=TE AT IuF F Fra gyt Fr a1 @
[Option ID = 1685]
Proper Representation of Employees in Management/ a9 H

R T

[Option ID = 1686]
Participation of Railway Employees in Management/ a4 & o9

| it € smefiErd

[Option ID = 1687]

None of the given options is correct/ f&T 77T et S T+ TEr
T E

[Option ID = 1688]

4

Correct Answer :-

., Participation of Railway Employees in Management/ JaTA H ol
FHaTET $r sreferd

[Option ID = 1687]

11) Which of the following is not a penalty as per railway servant Discipline
and Appeal rules (DAR) 1968
TRTIET | & 519 97 799 da9 Fanad a7 F49  (Fee) e 1968
FATAT AT A ©

[Question ID = 423][Question Description = Q11_AMM_PB_NAIR25FEB]
1. Censure/ 9TiT=ar

[Option ID = 1689]

2 Withholding of increment ! 5 Fefo heAT
[Option ID = 1690]

3. Recorded warning / TS S 718 Srama=r

[Option ID = 1691]
None of the given options is correctanswer/ RUaT faseai T &

FIS HET 39 A8l &
[Option ID = 1692]

Correct Answer :-
* Recorded warning / TS Fr 712 Iama=r

[Option ID = 1691]

12) Which ofthe following is Rule 3(1) of the rallway service conduct rules?
THRTEA # % a7 7 987 =0 (Han | &7 Haa 3(1) 57

[Question ID = 424][Question Description = Q12_AMM_PB_NAIR25FEB]

I Maintain absolute integrity / J0T Feafersar a0 1@

[Option ID = 1693]



Maintain devation to duty / Foed F Tfd HHIUT FaTC T

[Option ID = 1694]
Do nothing which is unbecoming of railway servant / THT 1% F1

T FL I TS FEE0 F PrantaaT

[Option ID = 1695]

None of the given options is correct/ BT 71T et & T 12 T
T E

[Option ID = 1696]

3.

4.

Correct Answer :- Deleted

13) In reference to Discipline and Appeal rule (DAR) 1968, enguiry is not
mandatory_ under rule

AIET HT AW (S Ee 1968 Fa=S A, Faw waed
[Question ID = 425][Question Description = Q13_AMM_PB_NAIR25FEB]
" Rule5/f@@H5

[Option ID = 1697]
2. Rule 14 (ii) / =rT# 14 (i)

[Option ID = 1698]
3. Rule13/@®13

[Option ID = 1699]

~ None of the given options is correct/ f&T aTT faredl # WIS HEr
EEI

[Option ID = 1700]

4

Correct Answer :-
*  Rule 14 (i) / T 14 (ii)

[Option ID = 1698]

14)  period of suspension, unless revised shall not be valid beyond
forciaer & 3afer, 59 g% ST 7 g, 39 a1, AT a1 g1
[Question ID = 426][Question Description = Q14_AMM_PB_NAIR25FEB]
' 30days/30 &=
[Option ID = 1701]
2. B0 days/60fea
[Option ID = 1702]
3. 90days/90 o=
[Option ID = 1703]
4 180 days/ 180 f&et
[Option ID = 1704]
Correct Answer :-

* 90days/ 90w

[Option ID = 1703]

15) For granting study leave to any employee, he should have completed at
least years of service
T ST FHA TR TA0T ATFT ST & [0, I9 FTH ST AT

AT T FEAT AT




[Question ID = 427][Question Description = Q15_AMM_PB_NAIR25FEB]
" 2years/299
[Option ID = 1705]
2 5years/53%
[Option ID = 1706]
3- 10 years/ 109§
[Option ID = 1707]
* 20vears/203¥
[Option ID = 1708]

Correct Answer :-

* 5years/5d%¥
[Option ID = 1706]

When final modification estimates (FME) is usually prepared
HioH Tty= A (THUHAS) HHGR 9T d oI Frar srarg
[Question ID = 428][Question Description = Q16_AMM_PB_NAIR25FEB]
. August-September/ 379TFT A==t
[Option ID = 1709]
2. December-January/ TEEEaT Saadr
[Option ID = 1710]
3. February-March / BE{T AT
[Option ID = 1711]
4 Apri-May | 38 AS

[Option ID = 1712]

Correct Answer :-

* February-March / TIE3r AT

[Option ID = 1711]

17) Expenditure for replacement of over aged track is generally charged to
which fund:

[Question ID = 429][Question Description = Q17_AMM_PB_NAIR25FEB]
' Capital fund / =it e
[Option ID = 1713]
2. Development of Railway Asset fund / T afvEafe e =t
[Option ID = 1714]
3. Depreciation Reserve fund / Heagd HRT&T fATer
[Option ID = 1715]

4. Railway Asset Development fund / T&3 giEaTS e At

[Option ID = 1716]

Correct Answer :-

* Depreciation Reserve fund / egard 3faa fafer

[Option ID = 1715]

18) Contingent expenditure means

HFHEAF T F AT

[Question ID = 430][Question Description = Q18_AMM_PB_NAIR25FEB]



1 Incidental to the management or upkeep of the office/ FATTTH
JEe U7 TEIETT F T graR wsr

[Option ID = 1717]
Unforeseen expenditure during progress of work/ & Fr qarfa &

e s g T
[Option ID = 1718]
Expenditure on rents, rates & taxes / FrRTT, S iR FH W e

[Option ID = 1719]

None of the given options is correct/ feT 1T flasreat & T 1T war
T E

[Option ID = 1720]

Correct Answer :- Deleted

19) Percentage of working expenses to gross earnings shown in railway
budget is known as

W 99 § @I e FAE # Y F o0 F ST FE AT
[Question ID = 431][Question Description = Q19_AMM_PB_NAIR25FEB]
1. Liquidity ratio / T{eTdT 3T He[qTd
[Option ID = 1721]
2 Profitability ratio / FTHHEAT 3T
[Option ID = 1722]

3. Operating ratio / STt=mere HaaTa

[Option ID = 1723]

None of the given optionsis correct/ f&T 7T fasrear A T HIS war
T E

[Option ID = 1724]
Correct Answer :-
* Operating ratio / T=Tele AT

[Option ID = 1723]

20) What is the full farm of the RRSK fund?
HS HX HN TH & F 0T §7 FATE?
[Question ID = 432][Question Description = Q20_AMM_PB_NAIR25FEB]

- Rashtrlya Rail Suvidha Kosh/ TSErT I giaar &g

[Option ID = 1725]

2. Rashtriya Rail Samparak Kosh / T & TFI+ FY

[Option ID = 1726]

3. Rashtriya Rail Suraksha Kosh / Ts&rT & 8T F19

[Option ID = 1727]
4 Rashtriya Rail Sanraksha Kosh / ITs¢1a of T8 H19

[Option ID = 1728]

Correct Answer :-

Rashtriya Rail Sanraksha Kosh / Trsra Yo7 S8 HI9



[Option ID = 1728]

21) The report of the Comptroller and Auditor general of India is
presented to the Parliament and it is taken for consideration by the
of Parliament _

ST % [FE T HgTerd] S AE T [TUIE A6= A Ted F Al g i
[Question ID = 433][Question Description = Q21_AMM_PB_NAIR25FEB]
' Estimates committee / STeFpole AT

[Option ID = 1729]

2 Committee on Public undertakings/ STa=tiers 3953 9 AT

[Option ID = 1730]
Business Advisory committee / STSETT TelgF OIS

w

[Option ID = 1731]
4 Public Accounts committee / T araT HiHTeT

[Option ID = 1732]

Correct Answer :-

Public Accounts committee / &7 31@T B AT

[Option ID = 1732]

22)  pleaseread following statements on budget and comment which
one is correct

FUAT I W Tt @a F3 9¢ 3R oo w S Fawr wérg

[Question ID = 434][Question Description = Q22_AMM_PB_NAIR25FEB]
1. Re-appropriation is permitted from one demand to another demand
T BT A ST AT H AR AT TS T
[Option ID = 1733]
Re-appropriation s permitted from veted expenditure to charged
expenditure but not permitted from charged expenditure to voted

2. expenditure | =AF (3% ) I H AT (FTAS) G 7 IS G
*T SATA T g AT AT (JT912) A | 598 (A23) A4 |

A TR [ T3 %] AGH T Tel 2

[Option ID = 1734]
Any surplus amount that remains unutilized by the end of the
financial year can be utilized in next financial year only but not

3. beyond the next financial year | F12 7 sfasTa 7T =T AT 99 &
AT TF AAAT T AT T, TAE] TTATT F8 ANA (A4 79 A hAT AT
AT 7, A w0 [T A9 & v Agr
[Option ID = 1735]

None ofthe given options is correct! 5T T fagear a3 %12 =87
[Option ID = 1736]

Correct Answer :-

None of the given options is correct! =T T fagear g 512 =7
[Option ID = 1736]

23)  \What does abbreviation ‘IPAS' stand for?
HEST ATH 'IPAS ' (3TTSYTH) T 471 372 &7

[Question ID = 435][Question Description = Q23_AMM_PB_NAIR25FEB]



. Integrated Payment and access system fﬂﬁﬁ' wmqgﬂ'
S]]
[Option ID = 1737]
,  Integrated paymentand Accounting system/ Uﬁﬁgﬂmﬁ
AT JUTTelr
[Option ID = 1738]
Integrated payroll and Accounting system / Tshrgrer 931l 3T 2ra@m
JUTe

[Option ID = 1739]
4 Inter connected payroll and Accounting system / SeT Fa%<s T
iy e s
[Option ID = 1740]

Correct Answer :-

Integrated payroll and Accounting system / Tshrgrer 931l 3T 2ram
JUTeT

[Option ID = 1739]

As per article 266 of the Indian constitution, all revenue of the
government of India flow into

AT WIUTe & HeJoos 266 F HaT, JNd HIFR 1 qW T+
ey wafgagare

[Question ID = 436][Question Description = Q24_AMM_PB_NAIR25FEB]

- Contingency fund of India / 37TT T HTFTETHAT =18
[Option ID = 1741]

2. Consolidated fund of India / 3Ra T §=ra AT
[Option ID = 1742]

RBI - Government of India account/ .}miﬁaiﬁ- AT HIsRE Grdr
[Option ID = 1743]

SBI — Government of India account/ THIIHTE - H1Id §FR @AT
[Option ID = 1744]

3.

4.

Correct Answer :-

* Consolidated fund of India / AT $r &i=r9 f&fer
[Option ID = 1742]

25) Fullformof CAGis _
CAG (3T) % qUT F9 &

[Question ID = 437][Question Description = Q25_AMM_PB_NAIR25FEB]

: Controller of Accounts of Government of India / ST BIFT & oi@T
IGEECD
[Option ID = 1745]
Comptroller and Auditor General of India / #17a & FaaF va

'mﬁmqﬁﬁ

[Option ID = 1746]



3 Controller of Auditors & Government Accountants / oT&T I11&Tshl T

HIFNT @R F Hass

[Option ID = 1747]

, Noneof the given optionsis correct/ TGT a7 Rreat & T 15 TEr
e &

[Option ID = 1748]

Correct Answer :-

, Comptrollerand Auditor General of India / e % ferdi= T
HETOI@T ILETH

[Option ID = 1746]

26) Reply of draft Para must be sent under personal signatureof
IFE YT FT3T =+ OFd9d gea1a  dad A= JA1aT A1e0
[Question ID = 438][Question Description = Q26_AMM_PB_NAIR25FEB]
" PFA/9HT ToF Hagsr
[Option ID = 1749]
2 GM/ HET 9au+F

[Option ID = 1750]

3. PHOD / 9o@ fasmmamezey

[Option ID = 1751]

,. None of the given optionsis correct/ fqw are fasrent # A 1% wer
T E

[Option ID = 1752]

Correct Answer :-
* GM/HET 9a9F
[Option ID = 1750]

27) 'Delayin replying to special letter issued by Audit departrment may lead
_their conversion into .

HETT T T 597 @0 98T T w7 I9F %9 5 a7 9 39T
=R H 21 9FA0 2

[Question ID = 439][Question Description = Q27_AMM_PB_NAIR25FEB]

' Provisional Para / 3= Tas (Sifagaen 9T
[Option ID = 1753]

2. Audit Notes / HTfse Jeqm

[Option ID = 1754]
3. Audit Para/ 3ifeedyq
[Option ID = 1755]

4 Draft Para / 3T%¢ 91
[Option ID = 1756]
Correct Answer :-

* Draft Para / 3T 811

[Option ID = 1756]

28) Pink book for planned works is issued by

oSt P R E A Fr A g



[Question ID = 440][Question Description = Q28_AMM_PB_NAIR25FEB]
- Ministry of Finance/ e #3re
[Option ID = 1757]

2. Zonal Railways/ 87317 {&d

[Option ID = 1758]
3 Railway board / T a8
[Option ID = 1759]

4. Divisions/ T3t ( Bd==)
[Option ID = 1760]

Correct Answer :-

° Railwayboard / @ arg
[Option ID = 1759]

29) Expenditure under staff welfare & amenities shall be chargedto____
FEAT FEATOT HT FIATH F TRT =T T FHT ST
[Question ID = 441][Question Description = Q29_AMM_PB_NAIR25FEB]
- Demand No-9 / #T3T T&TT-9
[Option ID = 1761]
2. Demand No-10 / RTITEETT-10
[Option ID = 1762]
3. Demand Ne-11 / FRTHEIT-11
[Option ID = 1763]
4 Demand No-12 / #T3T §&T7-12
[Option ID = 1764]

Correct Answer :-

* DemandNo-11/ RETEEAT-11
[Option ID = 1763]

30) which ofthe following cannot be proposed in RSF Programme
afrEs & G FT RSP ( 57 v ) FdFH § FATiT g (HAT AT AF AT

Alp

[Question ID = 442][Question Description = Q30_AMM_PB_NAIR25FEB]
. Requirement of new Electric Locos/ T SoiTeesh dAlhl =T

K IEEDETSI]
[Option ID = 1765]

2. Requirement of new coaches / &3 Fr=IT T JTIITHAT
[Option ID = 1766]

3. Requirement of EMUs / STHZ F 39971
[Option ID = 1767]

4 RequirementofﬁoadVehiclefmaﬁﬁiﬁ‘mm
[Option ID = 1768]

Correct Answer :-

* Requirement of Road Vehicle / TS S1ga o1 JTI3THdT
[Option ID = 1768]





